pump for all, all for pump

KSQ9001:2009/1509001:2008

~ Ol Lubrication
PUMPS

Centralized Oil Lubrication system
Auto lubrication pumps

Manual lubrication pumps

Air-Oil lubrication pumps

Distributors
Accessories & Fitting

A-RYUNG

WWW.aryung.co.kr

AR2016-AMGP-EK2



Oit Lubrication pumps

CONTENIS

Technical data

3 Resistive Oil supply system

4 Measuring Oil supply system

5 Measurement of oil supply

6 Description of main function & Viscosity

Auto Type

7 AMGP-01A Series
10 AMGP-01M Series
12 AMGP-01S Series
14 AMGP-013(F)/015(F) Series
16 AMGP-025N Series
18 AMGP-**NS Series
20 AMGP-200NS Series
22 AMGP-01N/02N Series
24 AMGP-03/05 Series
26 AMGP-03C/05C Series
28 AMGP-053 Series

Manual Type

29 ALP-8LF Series
30 ALP-7LH Series

Distributors

31 DB Series

32 AR-B Series

33 PVO Series

34 ARD-340/350 Series

36 AJB, ASA Series

0Oil Mist Lubrcation(air+oil mist)

37 AOML-3000 Series
39 AOL 4 Series
40 ARD-440 Series

VA Oil Reservoir

Accessories & Fitting

43 Accessories
[AA Fitting

48 DEeI Y g




Technical data

Resistive oil supply systems XakH|H)A! &

B XM A|AEIOZ = H|gAl Doy} QloH HIpA 2% @eg 2zt m The resistive system have two types of measuring system pump. This
2HfHO| ZEH L= Flow unit2 XEE Uiz Xale| & 2ol 2 system is to lubricate every point by controlling port of distributor or
ofl 222 vl E= ZFGIH 286k AIAHO|CE resistance of flow unit with proportion or adjusting much or less of

the oil.

B 7t EET10| 2o mio| EZZ| HblH 1 S22 BEHiHE Saif m The discharge volume of each outlet is proportional and distributes
7t 29 AR ZZ5HA =k each point through the installing distributor.

B Flow unit (Code No, 03 ~ 4)= SHHT Zel|= AJB EfCl 22 m The flow unit (Code No. 03 ~ 4) have two types of AJB type combined
THAO EEIE|= ASA EI2D| Slom ZIeE Code HE0| Xt S0 distributor and ASA type attached every lubricating ports. The code
hofl et 2 2Hie) HiEE 2| S7BHEE Fof gt number increasing on the fittings increases the discharge volume two

times.

D1AF)-T1.8 DIM(FI-T1.8 / /
—e S 5 0 2 e ﬁa'ou—ﬁa-’l

\TD—4 \TB-4 i \KD =4 -
_ —
/a1 _ #SA

- e affd
— e af®

[ TR e - - o v

. rhi--‘ﬂﬂ—“i-w
— |
; = N\ | TN-4
' i ALF-8LF
] = . ASA

D5 U2

R A R |

DIM(F)-TO3

015(F)-T1.8 013(F/01B(F)

o L]
e
e

O1A(F)-TO3

[~ Tl
[ R
[ LT
ﬁaﬁ T
\
Wems e
e ——— . L]

c O Www.aryung.co.kr 2+ 3 .



oo

Measuring oil supply systems &2

(o)
2A TR WA

" Y RTIR AAHS YT HY Bt 35101 AISEIDY
2

O WAL MmOl E5E RERS BN Fa AR

A0 LB BB wApICE

S R=E

B FE BHitHo] EEZE2 Adjust NippleOll 2lot ZFTIH Adjust
NippleOfl 2lefE Ha7t 245 EE& RER &7t =tk

B M2 2HiHDE ZE6IH Aot | fleid=
EEE(00} ot Hmo| S22 7IEXoZ SXlof 5iCt W=ot
OF &EE|X| 2
SO | IS S22 &

B HIE 7HINOZ AFAF7| Ploiis EHE

HIol| 23|

Xixpl HES

EtO} HHEIj}

=-d =

27t LiE

HEE MEsIHLE 7|AEL| THES2{2t HEoI0 AlSatoFett,

2Ie

pio Aoz FAGHAl TIH 2LHe| 12| HhXX| pot
XS & 4 glog 2 EE0| 0|20 X|X| =ttt

=l

m The measuring lubrication system should be used with measuring
pump and distributors. This system lubricates to the points by
measuring setting discharge volume.

m The volume is decided adjusting nipples, and the amount of
lubrication is increased by nipple number increasing.

m The venting valve have to attached on the pump to assemble the
measuring distributor. The pump should operates as intermittent
method. If not, the distributor can move because the air is not
removed in the pipe.

m To operate the pump with intermittent method, the pump have to be
installed a controller in pump itself or be attached the controller on
the machine.

=
01NS

02BNS

OTNA02N/03/00

ﬁ

ARD-352

ARD-342

|
¥
L]
ARD-343 ¢ TA‘i I SPPSS

ARD-353 ® =

f ARD 345

-
O

‘ : — e

e (00 TR

@4 == 82 ARD-356
@4 R b=

i
~ e HEE
-

o

—_ . pump for all, all for pump




Technical data

Measurement of oil supply &2 SR2F AWk

1. Necessary oil supply of total loss formula Q= Necessary oil supply (cc/hour) 2R Ol 222
AQEF Z|AH ZA K = Oil supply constant (See tabk below) O =X+
The unit of width and length is (mm) =t

— Qil supplying place — Calculation formula —— Oil supplying place — Calculation formula —
*Bearng Q= 01/25.4 X Diameter =% *Chan _ : 10
X Row pecesE4 X K 9 _XO.\(/\)IS'U/ZS.; i Ifngth 20l
(Ball, Foller, Needle 15
bearing)
+ Siding bearing * Ball Bearing way

Q= 015/254 x Shaft da=d Q= 003/254 X Lengh Z0] X
X Joumal length Z0| Row pieces €4 X K
X K
+ Phne diding ) o *Gear Q= 03/25.£ X Pich
Q= 001/254° X Lengh =0 X Circle diameter 21
X Width Z X K :
{Length = Stroke)

X Teeth widh 7101 =
* Cylnd ¢ sliding +Cam

X K
Q= 015/25.4

X Diameter 214 ’ \
X Length 20| X K 3

2. Necessary al supply of rotating formula
(Return type of lubricatihg oil, Experienced formula in Hodson's sliding bearing)
G20l 25t ALt ZA

Q= 0B/254
X Contact crcumierence
EERIZ X Width Z2 X K

+Siding bearing * Gear
Q= 3%XFf XN x 10° H : (15HP - k)>x10.6=159HP - k Qil SUPP’)’ Constant(K)
Q : Minimum oil supply H : Heat capacity produced :: o R e m or
2| SS2F (Galon/min) SIAEEE (keal/min) 18 ERAAE (m}kr:in)
R :Radius of shaft(inch) HP : Transmit Horsepower O 17
Zdp 1.5 : Constant 2l ::
N : Rotating speedirpm) 10,6 : HP=10.6(kcal/min) o
3| % k : Coefficient of heat bss 13
Sl 12
-Rotéting bearng ~Normal : 005~0018 &3 3
Q= (325 x 105/ A1) DinF —FLecI;SDn gear : 0008~0012 0s
. N =1 08
i{.%l SJppity (me)tg"cj% 27001 07 Ai 2 4 5 6 7 8 s/ip 112131415 il
8&1;&1; emperature Q= H /427 cAt 22 i ,/,..’-—‘*""_ fmr:n;n]
D : Shat dameter(mm) =4 W T e AL e %or:in)
1+ Coefficient of friction Q= Ol supply (m/sec) S+t o J
OIEZ2(0.001~0.002) r - Specific gravity (kg/m’) HIS i /”—b—‘——ﬂ—
n : Rotating speed pm) 8EH c: Spgc.'rfic heat (kcallkg,C) HIZE ) 008
F : Load(kg) 515 At :Raisihng temperature(’C) 2=HS} 8

% This calculaing formula is he most correct data when specific heat of oils is 047kcal/kg, C
0| +t= A2 29| 257t 047kcal/kg, CY WE 71&

c O Www.aryung.co.kr 4+ 5 .



Oil Lubrication pumps

FREZ2| IS

Description of Main Function

W Float swich(2@¢ 2i# AQ4x])
Ol levelg AXE == U= Float switch7t LR
50 Qo Y3 L] 220] 2IXFHo| =26t
&|™ Float switch 2] 0| "ON" &I 0] switch
o] TES AEAIEL HMOER|t Hzsl 2Y
B 49 J17Ael HX| S0l 0l8g 4 Ct
AREHLL : AC250V, DC200V Olot
TEE2F: ACO33A, DCOSA

B Pressure swich@= A24R|)
PumpZt Z7ISAE AR 0 LA Lol o
Fel Y20 =6h=XE dRioto] Bme| *AE
S Adohs JIseEM FHERl S ¢ W=
AgRIC] ZEO| “ONO| /A =lof 2lem ol F
ol MSE 7|7AES| HiofHX|et 12610y HEo
2F FE, 7|HEX| S0l A 4 Uk
AR PS-1.5(0.15MPa)

PS-11(1.1MPa)
ARSFIRY © AC 250V/DC 32V
1.BA0]5t

m ZESAZE A

Hi= &5 Al ZEOIN &2 S0| Yie02 &
28l hterval Time @H FX| AlZhg sHof sict
EZAIZH0l HIsH hterval Time (2¥d EX| Al7ZD
0| oM DEN| =2 Eo| L6 £/ olii=
LHE0] ZRi= oFMER|of Qlslf REPL XISe=
XA =k J2it G0l AloH  ChA| FAK
¢l &l=g ol =t

B Relef Valve(YEizF wH)
UM HY -

02 MPa ~ 2.0 MPa

B FEED button 7I1S(+5 %)

20| RISl MEplN FED" HES +2H
A AlZlzh= 2G| 21 Q= S0t 220]
EE =ot Z7HHEE MXBIo] 2hHel Arg H|
ob Lt =592 SRS otuxt & 1 E0l6H|
AMEE 2 I} T WO LIS FEED HE A
x| HES oI85H 71l & HIofAX|Rt H20|
CIEE|o] US UHTt O] 7152| AKE0| ZHSolct,

B Built-in Float Switch:
The Contact Point indicates ON when the oil
surface is lower than the lowest limit line by
perceiving the drop of oil surface of Reservoir.
Maximum Use Voltage:
AC 250V/DC 200V
Capacity of Contact Point:
AC0.33A/DC05A

B Built-in Pressure Switch:
The Contact Point indicates ON when pressure
reached the certain pressure by perceiving the
pressure of Pump. This device perceives
whether Pump operates normally or oil-
leakage occurs in Pipe.
Applicable Pressure:
PS-1.5(0.15MPa)
PS-11(1.1MPa)
Maximum Use Voltage:
AC 250V/DC 32V
Under 1.75A

B Setling of Operation Time:

This Pump must not be operated continuously.
In case much heat is generated in Motor by
long-time operation, Motor is set to stop by
bimetal which is equipped inside Motor, and it
operates normally when the heat cools down
again. Please set sufficient interval time for the
most suitable operation.

B Relief Vahe:
Adjusting the Pressure of Pump
Adjustment Range:
0.2MPa~20MPa

B Feed Button Switch:

It is used when oil is supplied manually. Pump
operates when Feed Button Switch is pressed
regardless of setting time. When Pipe is set and
initiative Pump is operated, the Feed Button
Switch must be pressed necessarily so that oil
can be filled inside the Pump and Air is
completely eliminated. Then connect to
Distributor.

It ASEIX| s 4 Tk

m As the viscosity would be sharply changed by
the temperature, proper viscosity of using oil
should be applied according to the viscosity
appling chart.

=0l U2 SHE=(cSt) A3t

Tem

pSI_ra VG32 | VG46 | VG68 (VG100|VG150
§e

-30 | 3250 | - - - -
-20 | 1170 | 3600 | 8000 | - -
-10 | 440.0| 1270 | 2500 | 4500 | -
0 240.0 | 520.0 | 950.0 | 1600 | 3570
10 [135.4(261.3|433.0(772.3| 1236

20 | 76.1 |134.0|212.0 | 356.6 | 553.2
30 | 464 | 75.7 |115.0|183.8| 277.0
40 | 302 | 46.3 | 67.9 | 103.8| 152.3

50 | 208|302 | 430 | 632 | 905

60 | 150 | 208 | 288 | 41.0 | 57.4

70 | 11.2 | 150 | 203 | 28.1 | 385

80 86 | 11.2 | 147 | 20.1 | 27.0

90 69 | 87 | 113 149 | 19.7

100 | 5.6 | 69 | 88 | 11.4 | 149

110 | 46 | 56 | 71 | 9.0 | 116

120 | 39 | 46 | 58 | 7.2 | 9.2

130 | 33 | 39 | 48 | 60 | 75

140 | 29 | 33 | 41 | 50 | 6.2

150 | 25 | 29 | 35 | 42 | 5.2

160 | 22 | 25 | 30 | 36 | 45

170 | 20 | 22 | 27 | 32 | 3.9

. pump for all, all for pump



AMGP-01A(F) Series

AMGP - 01A F - TO3

Pump division J

o2

Float s/w Option
FH UX| A%K]
No mark : None
F : Contained

Reservoir capacity @ )
3 2

No mark : 1.8

T03 : 30

Ol supply method
B9 YAl

No mark : Proportional
T Measuring

Voltage (V)

it

- T 110

B Xpx| LR CIXE Bt Miopf sl 7FeMez gRal= HEZM
HIZA| 2HHHDB Elgut ZEBIH ALEEl= AMGP-OIARF) Etgdt
2fA| 2HHH (ARD-340,350. PVO Efehmt ZE6I0] AkZEl= AMGP-
OAF-T Eflo] ek,

m It is an intermittent pump containing the digital timer inside to control
the discharge volume correctly. There are two types, one is used to be
combined with resistive distributors(DB type), the other is to be
combined with measuring distributors (ARD-340, 350, PVO type).

RS Xt ol x| 22X

fu m It has digital controller to check easily the operation with indication of
HAR|O| 220] Oj2Hstz OlARF| AlHo| ol E0lsIC.

letters and numbers on the controller. the surface is beautiful and easy
operation checking.

B CXE 7HEZE2 YAo=Z AZMef7t FH £
|0

B X Az EE AlZIe] M7 diHo| malsln HMEslo A0 Zezmt
=22 &8 %7t 7Isolth. m It is possible to lubricate by setting intervals and discharge time easily

and precisely.
w QUG ZXD) Qs U HE Al ZuS preasey.

<

TRRE HEY =+ ATk (MERfR)
B HE M Feed HIEO| AC| Z7| HiZE Xt T HiELAC| 37

Hopt S06lH O HES 018510 +5 577t 7tssltt

B B== SAP A, QAP AL AR A, ER7 1A, AE7 A R A4S
S0l 22| AtS=t

mjo

2EH 1 AISE 2% Hof
m This pump has a terminal box to contact outside controller to alarm the
oil shortage. (Option)

m As the pump is installed feed button switch inside of pump, it is easy to
remove the airand to operate by ~ manual.

m This pump is mainly used machine tools, printing, foods, fabrics,
injection machine and various industrial - machine.

Discharge | Working | Pressure | Reservoir | \, . Net Phase 1, Poles 2P
. Viscosity Outlet . Mot Ere Rated
T volume | pressure | range | capacity ~ _ weight Qg e &
ype Exosr | Ao | ofmo | sigeat MEEE | EEF == Output | quency | voltage | Current
ETro == H =i Ol = =x=] CSt PT S o %EE‘ —T—EH‘— ;So':}, ;SL“?F
CC/mIn MPa MPa Q kg W Hz V A
01A 85 50 |100/200| 1.4/0.7
0.8 0.2~1.7 1.8 30~500 | 1/8"(gg4) | 28 15
01AF 100 60 [110/220| 1.2/0.6
85 50 |100/200| 1.4/0.7
01AF-T 1.7 0.2~1.7 1.8 30~500 | 1/8"(@4) 28 15
100 60 |110/220| 1.2/0.6
125 18" 50 |100/200| 2.0/1.0
01AF-TO3 0.8 0.2~2.0 3.0 30~1000 4.7 25
150 (@) 60 |110/220| 1.8/0.9
125 1/8" 50 |100/200| 2.0/1.0
01AF-TO3-T 1.7 0.2~2.0 3.0 30~1000 4.7 25
150 (@) 60 |110/220| 1.8/0.9

o O WWw.aryung.co.kr 6+ 7 —




169
142 17
121 108
4-07 HOLES .
S [ | - —
PT 1/8"
::;2
(2]
e
]
[ |3
T A-RYUNG g
e
|/ 3
=
-
S
R B
(156)

125 220

179

Circuit diagram s|2x

External dimension &= Applications X2

AlEgH - Ols
ZXRY: SED| — 32¢St 0[5t

Sl | — 68cSt Olst
PN ES|
AoA 2 FHH : Rastic
B3 : Plastic
7|01 HZ : Seel
& 710[= : Rastic/ZnDC
A== 80°COkH
Sl
Hl2ik! - AMGP-01A, O1AF, OTAF-TO3
Mkl - AMGP-O1AF-T, O1AF-T(3-T
HlojAL: Digital ype
HXKIZEH: 1~99mn
EZEA|7H: 1~00sec
A 0IX| - PG-35K

(AMG P-OIAF-TOB)

HHALX] 1 FS-A(MEIRIRH
EX:03A

Type of fuid : Ois
Recommended oll

Winter — below 32¢cSt
Summer — bebw 68cSt
Material

Case & Cover : Padic (ABS)
Tank : Rasic (ABS

Gear pump : Steel

Shaft guide : Pagic/ALDC
Temperature : below 80°C
Ol Suppy method
Proportional :

AMGP-0OIA, OIAF, O1AF-T(3
Measuring :

AMGP-OIAF-T, OIAF-TO3-T
Controller mehod : Digital type
hterval time : 1~99min
Discharge time :1~99sec
Pressure Gauge : PG-35K

(AMGP-OIAF-T(3)
Float switch : FS-A(Option)
Fuse : 03A

Electric connection ZM&=

AMGP-0IA(F), O1AF-TO3
H| 3 A(Resislive method)

AMGP-01A-T, O1AF-T0O3-T
MM (Measuring melhod)

CONNCTOR PLUG DEPOWER
% 1RED
@ @ @ @ 2BLACK
CONNECTOR| PLUG FLOAT S/W OPTION
= DEPOWER
@ @\|/@ @\| e@oLAARMm
@ ©)|\® @ | "swire soreen

' pump for all, all for pump



Panel description

Pow C€
MGP—01AF
CENTRALIZED LUBRICATION SYSTEMS
MINUTE \ li SECOND
r /
dJs) LS
INTERVAL TIME DISCHARGE TIME

Digital Control system

e

dt= Di O MEo| A2 E/H O
Mode "B' buton2 =21 4% MODEE tH
Li@ ™ =t
B) &8 =3 10X ool ot ol gle
Y| AR E AR VI X5z 2

: Feed buton
* Reset button
* Mode button
* hterval FND
- Discharge FND

(ORORSRORS)

MINUTE

'SECOND

FE

INTERVAL TIME

PN

Ed

2]

DISCHARGE TIME
A

MINUTE

SECOND

0

INTERVAL TIME

=

DISCHARGE TIME
A

Il Interval time Z[ASHe| £

25z

Discharge Time
(ESAIZH

Interval Time
(ZFd EX|AIZH

1~10sec Luf

ok 2min Ol

11~30sec Ll

oF 3min Ol&

31~60sec L

ek 5min Of&t

61~99sec il

2k {0min Ol&t

Efo|H &3 Y

* R
Interval Time  1~99min
Discharge Time 1~99sec
* EE Q2 M
01A(FX100cc/min = 167cc/sec
01AF=T03 150cc/min = 250cc/sec

1) Ay
MODE m :
A X2
v x|
A) Q¥ Mode "®" button2 13| ¥2H
Interval time2| 4=X|7t 7’*H*71EIEF| ol (DA
‘A" buttong F2H X7t Btsln QH
‘¥’ button2 F2H £X|7} %.*iﬁlih Hst
£ Interval time2| A% 0| 242 E|H CA] @
Mode "®" button2 13| 2™ Discharge
time2| $X|7t 28 H2|H o = DP‘WWE
DEH“A” buttong F2H £X|7} F71512 @
HY” putton2 F2H #—XIW’*A\_&H:L A
Discharge time2 A% 0| 22 EH @H

YA OlF, 28U

ra

A2 ®MBHECH
C)"A”, “¥” button2 13| =
fotH AlLshM +
ch

S [otch X4
20 oM ALEM

o o

z
=L

pdy
=]

E

2)RESET 7Is
20| ZIE MEHOIM RESET" buttang
2 2EE BURITISET CIAl ARE 2t
3) FEED bu
2H0| X
H HA| o'Oﬂ
Alglo] =
’<7IHHH§ =

SRt &

IS (&= 2%)
=01 MefolM FEED" buton2 £2
EED"7t HAIZIH A% ARt2h= 2
1 Q= S0t 20| EEEICE
|at] L2l ArE MASIHL 5
SO2 ZRe i Z0|5HA| A2 4= QM.
4) Ol 8= ZH (Option)
HIZ O U0 BEFESA E=HH HA I"é
VIL'0] EAIZIZ Buzzer 20| M3l @
BZSE g AE g 7t QU

I EEAIZE 2

] OI HI= REA| DEOIA =2 Q0| Wiz
ZIE Holl 2|7 £S5t hterval Time (71
JHJKIAI”)c> AHshorsict, EEAIZH HisH
nterval TimeO| HOH ZEQ| =2 Z0| LM
Sl l0] LSO &2 QHHER|O] 2l 2E
7t RS2 HXBHA =Ch J2it €ol Ale
™ CIA| FAAR! HES oAl ECt,

OO

O

Setting instruction of digital timer

*Setting range
Interval time:1~99 minutes
Discharge time:1~99 seconds
*Calculation of discharge volume;
01A(F):100cc/min = 1.67cc/sec
01AF-T03:150cc/min = 2.50cc/sec

1) How to set the timer
Mode m : Starting set, Move, Finishing set.
A:Numbersup
'w: Numbers down

Al If you press the button” m" one time, the
interval time mode begins blinking. * A"
button increases the numbers to set the
interval time and "w" decreases the
numbers. When it finished, press " m"button
again and the discharge volume time mode
blinking,” A "button leads to increase
numbers and” ¥ to decrease the discharge
time. Press again the MODE " m" to exit the
setting program.

BJ If you don't press the button within 10
seconds, the timer recognizes the setting
time is ended and operates automatically.

C) When you press " A", “w" button every one
time, every one number increases(decreases).

2) RESET function
When you push the "RESET" button during the
operation, the mode returns to starting set
mode.

3) FEED button( manual oiling)
If you press”FEED"button during  the operation,
the oil discharges regardless the setting mode,
also this button can be used to remove the airin
pipe or by manual.

4) Alarm of oil shortage(option)
When the oil is short, the window indicates “OIL"
with alarm buzzer sound to check easily the oil
shortage.

I Setting of operation time

m As this pump occurs the high heat in motor
when working, set the interval time
following the left information. The motor
stops automatically by high motor heat
,causing the interval time is shorter than
discharge time. But the pump works
normally after motor cooling.

\—4

O wmarpngeokr G 9—



Oil Lubrication pumps

AMGP-01M(F) Series

AMGP - 01M F - TO3 - T 110

Pump division J

a2

Float siw Option

TH AR ALK

No mark : None

F :Contained
Reservoir capecity (0 )
EEEH

No mark : 1.8

T03 : 30

Oll supply method
EERTN

No mark : Proportional
T Measuring
Voltage (V)

Fet

B Xk WA= of=2 3 EFOIHe| Mop Clal Ziaksio s 29kl Hmg m AMGP-01M series pump lubricates intermittently the oil by analog
M H[gAl 2o (DB Ef)al 285BI Al2ECE timer installed inside the pump with resistive distributor. (DB type)

B OIE2T 7IEE YWrloZ 2ES 22 3|IFAIAH HX| Alzlt E& Al7t m This type is applied analog control system and by turning left and right
o MF dito| HEleln @Kol HLpt Aol 7| ZeEmtEo| & direction it can easily control the interval and discharge volume.

=7ttt m Because the LED lamp plate is fitted in front of the pump, it is suitable to
B ZSAE|T M ZAFEo] | FD I HARE0 SEME] U 0|ARS check the operation conditions and the trouble.
| Al=0]| OH% Z0loich

[¢]
mr 3

l

m This pump has a terminal to contact outside controller to alarm the oil

B FEKeH ZAP ol @Y BE Al ZUSS 22K 1 MSE 25 Mo shortage. (Option)
RRL HZE 4 Q= TRPL QICH (MEHAIY

m As the pump is installed feed button switch inside of pump, it is easy to
B O M| Feed HEO| UX =7 HHEE AXBt F HIELHS| & remove the air and to operate by manual.

H7pt S056HH 0] HES 018510 & 77t 7tsslct

B B== SAPA, QAP A, A2 1A, AR7 1A, AMEZ A,
AP S0l E2| AFZ=ICt

m This pump is mainly used machine tools, printing, foods, fabrics,
= injection machine, press and various industrial machine.

| Fl
jla=}
];
el
_|\.I
OF

Phase 1@, Poles 2P
Discharge| Interval | Working | Reservoir Viscosi Outlet Net
T volume | Time |Pressure | capacity xity _ weight ~ Motor | Fre- | Rated
P | escn| wxlAz| AlgeE | wasy| MEES | 2T | ma Output | quency | voltage |Current
cc min MPa i} ¢ kg =3 | Fobg | MY | HF
W Hz \ A
) 50 100/200] 1.4/0.7
01M 1/8
3~100 1~120 0.8 1.8 30~500 28 15
01MF (4]
60 1110/220| 1.2/0.6
e 50 |100/200| 2.0/1.0
01MF-T03 5~150 1~120 0.8 3.0 30~ 1000 (6] 4.7 25
60 |110/220| 1.8/0.9

pump for all, all for pump



External dimension &=

169
142 117
121 108
4-07 HOLES | | p=
Bower Lud CE| (L JOUTLET £ -
}D comuam ?? g PT1/8 s
g% | &l ofF
o &) & t=2
) i
i i I
; | H |2 !
W T A-RYUNG & |
R |
1 S e !
I/ 2 ! 5
== e i
i o
— |
| ST v L i \
T Y T
12 | 69 |
(156) (106)
289
245 145
12.5 220 120 9

Analog controller type

- :
‘_../ '

Applications X2

AERA : Olls
FMRYU : 27| —32¢St Olst
52| — 68cSt olat

R

Aol 2 7AH @ Pastic

&3 : Plastic

710] G Seel

= 7I0|E : Pastic/ZnDC

A2t : 80TCol6t

=S

HlofA! - Analog type

FXNZE  1~120min

EZEAIZE: MF-T18 : 3~100cc
MF-TO3: 5~160cc

I20|X| : FG-35K (AMG P-OIMF-TO3)

AHARIR] : FS-AMEIIS)

EX:03A

Type of fuid : Ois

Recommended oll

Winter — below 32¢cSt

ummer — belbw 68cSt

Material

Case & Cover : Phdic (ABS)

Tank : Rasic (ABS

Gear pump : Steel

Shaft guide : Pagic/ALDC

Temperature : below 80C

Ol Suppy method : Froportional

Controler method : Analog type

hterval time : 1~120min

Discharge time : MF-T1.8 : 3~100cc
MF-TO3 : 5~150cc

Pressure Gauge : PG-35K

(AMGP-0IMF-TO3)
Float switch : FS-A(OPTION)
Fuse : 03A

Circuit diagram 22X Electric connection ZMX:

Discharge Time
(ESAIZH

Interval Time
(7t HXIAIZH

1~10sec Ll

oF 2min Ol

11~30sec Ll

oF 3min Ol&

AMGP-01M(F), O1TMF-TO3

tl 3l Al (Resislive method) CONNECTOR]  PLUG DRPOWER
= % 1RED
2BLACK
I_--
| CONNECTOR| PLUG | FLOAT S/W OPTION
: = DAPOWER
| ®© @\|/@ O\| eaoLAarm
: ® O/|\® @ | ¥reD 2BLACK
|

3IWHTE 4GREEN

31~60sec Ll 2k 5min 04
61~99sec Ui OF 10min Ol&

B 0| HE= XE Al ZEHOM =2 Zo| Lo
HO| o7 &Rt Interval Tme @F EXIAZHE
Msiorstct EEARM HIgH Interval Time0| &S
B DE0| =2 Zo| LAoHA| El0] LiSof HEt= o
TEx[of ofsh REL XtSe2 HX[5HA 2ot 38
Lt HO| AlOH CIA| MAXPRI AEE olA| =Lk,

oL T

m As this pump occurs the high heat in motor when
working, set the interval time following the
information. The motor stops automatically by high
motor heat, causing the interval time is shorter
than discharge time. But the pump works
normally after motor cooling.

O wmamgesse 10+ 11



Oil Lubrication pumps

AMGP-01S(F) Series

= Xh LHZE O Efolmel Mool olsf 7teiso Sesls sz
A BIER] B (DB EFt KBbl0] ARSI

® Ol= T 7IEE Whloz 288 AP SRNAH A ARl £5 AR
o] 4 wep| wielslol WeRivigel 2% 37t Tkssict

® AISAE7} Fot R Bhto] LED m0| EAIO] A AlEf o 0lAkR
20| 40| 0f SOlBct.

= REIREH ZXD Ol 2 S Al ZTS0| B2 1 ASS 2l Fo]
BRI SISt 4 Ol EIRPH UCE (MERfRY

® HE 0| Feed HE0| 0| £7| S MRSt S th2hYl 27|
HI7Pt B0l6HH 0] HES 0185101 45 SR71 7H55ict

B ST FIPA, QMDA AR, AKR7 A, AST A, T W 2
AP 7] Sofl 'l ArgEc

AMGP - 01S F 110

Pump division J

Hons

Float siv Option
FHUX] ALK
No mark : None

F :Contained

Voltage (V)
b

ki

m AMGP-01S series pump lubricates intermittently the oil by analog timer
installed inside the pump with resistive distributor. (DB type)

m This type is applied analog control system and by turning left and right
directions, it can easily control the interval and discharge volume.

m Because the LED lamp plate is fitted in front of the pump, it is suitable to
check the operation conditions and the trouble.

m This pump has a terminal to contact outside controller to alarm the oil
shortage(option)

m As the pump is installed feed button switch inside of pump, it is easy to
remove the air and to operate by manual.

m This pump is mainly used machine tools, printing, foods, fabrics,
injection machine, press and various industrial machine.

Phase 1@, Poles 2P
Discharge Intgrval Working Reservqr ey | Ol N.et
T volume | Time | Pressure | capacity AR ex weight ~ Motor | Fre- | Rated
ype E=2aF | AXAIZH A2 | eig et = =T = Output | quency | voltage Current
; e e cSt PT _ _
e min MPa 2 kg 23 | Foa | FY | mR
W Hz \% A
30 50 |100/200 | 1.4/0.7
01S 1/8"
3~85 2~100 038 1.8 ~ 2.8 15
01SF (@4)
500 60 |110/220(1.2/0.6

. pump for all, all for pump



Analog controller type

K
-

External dimension 8= Applications X2

A2SA - Ok
ZHRY : SEY| —32cSt 0l5t
o (17) 51| — 68cSt 0l5t
4-9¢7 HOLES 121 108 R
HOIA & FAH 1 Rastic

] EH3 : Plastic
| @ 710} = : Seel
. = 7I0I= : Pastic
L AIE25 1 80°COlot
SRUA vl
HIoHA] - Analog type
BILAIR] : FS-ARIEAIRY
EX:03A

40
78
88

(239)

(179)

151

Type of fuid : Ois
Recommended oll

Winter — below 32¢St
ummer — below 68cSt
Material

Case & Cover : Phdic (ABS)
Tank : Rasic (ABS

Gear pump : Steel
Controller Panel Shatt quide : Padic
@ @ @ Temperature : below 80C

Oil Supply method : Froportional
i @ hterval Time LED
Power L c E @ Oil Level down alarm

Controler method : Analog type
/ f AMGP,Lm SF @ Discharge Time LED

Float switch : FS-A(OPTICN)
Fuse : O3A

Y @ FEBD Button
— IIIII .I.I. (O" Manua| SJDDN)
5 v Vo et e st

® Discharge time Volume

Discharge Time Interval Time

(ESAIZH (7l HXIAIZH
1~10sec Huj oF 2min Ol&t
11~30sec il oF 3min Ol&t
31~60sec L 2F 5min Ol&f
61~99sec Al 2F 10min O

Circuit diagram 2IEx Electric connection ZME B 0| HE= AT Al 2EQIM =2 Ho| Lilk|
Ir = S i =2l

B2 1ol 2 &=5t hterval Time (7 &
AMGP-01S(F) x|A|7I')o /\‘II‘I OHOFEH:I'. E%Ala‘oﬂ ch’H
H| 2| Al (Resistive method) hterval TimeO| Bo™ HE0| &2 Z0| 2l

CONNECTORT BLUG | Garow SIA| ZIOf LIS0] 22 QHEER|o) Sfsl 2E

OUTLET = % 1RED 7t ASCE MAHA =Ch J2it Eol Ao
@ T ZBLACK ™ ChA| HaERl 2SS oAl EICL

FLOAT SWITCH CONNECTORT PLUG | FLOAT 8/W OPTION m As this pump occurs the high heat in motor

i /" (OPTION) = DOPOWER when working, set the interval time following
@ @\ | /(@ @\| eaoLAsry the information. The motor stops automatically
@ @/|\@® @ | xRmED  2BLACK by high motor heat ,causing the interval time

ANK

WHTE 4GREEN . . .
s G is shorter than discharge time. But the pump
works normally after motor cooling.

o O et 124 13—




Oil Lubrication pumps

AMGP-013(F) / 015(F) Series

B X LHEE of== Eto|Mel Aol 2lsh
Af b 2HIEHDB Et)nt REIGH ALSEICE

= 54 ¢ §s0| B2

LS

B HE XA Feed HIEO| 0| 27| HiZEE X
H7Pt EolstH 0] HES 01851 =

B Bo= oSuyA AENYT (A, SE21A|, LAY A, AZ7 A, S|717
=]

A BR= AEY 4 U=E YT FER A=

| du2s 2t 245 AR Ao

S ZISNET 17 Soil 22| ARS=h

PE=rsr=y

=

A ao

o

b 7tssict

HH

2 gfthE =2

[

iLHel

r
O

71

AMGP - 013 F 110

Pump division
Hopg
013,015

Float siw Ogtion
QU UK AR
No mark : None

F :Contained

Voltage (V)
b

XJO

=

m AMGP-013, 015 Series pump lubricates intermittently the oil by analog
timer installed inside the pump with resistive distributor(DB type).

m This type is high endurance because it is made anti-vibration structure
to protect shock and vibration.

m This pump has alarm device when the oil is short and has terminal box
connecting with control device outside.(Option)

m As the pump is installed feed button switch front side of pump, it is easy
to remove the air and to operate by manual after setting the pump.

m This pump is mainly used machine tools, printing, foods, fabrics,
injection machine, press and various industrial machine.

Phase 1 ¢, Poles 2P

Discharge| Interval | Working | Reservoir| ., . Net
volume Time | Pressure| capacity Viscosity OuElet weight Motor | Fre- | Rated c
Type = A2FHE | EEF 0 L urrent
EZ Q2| HX|AIZH AU | g ear A PT =2k utput | quency | voltage -
cc min MPa 0 ¢ kg g3 | Fope) zer | O
W Hz V
. 50 |100/200] 1.4/0.7
013 1/8
5~100 3~30 0.8 1.8 30~500 2.8 15
013F (@)
60 [110/220| 1.2/0.6
50 |100/200| 1.4/0.7
015 1/8"
015F 5~80 30~120 0.8 1.8 30~500 () 2.8 15
60 [110/220| 1.2/0.6

. pump for all, all for pump




External dimension &=

121
445 .25, 515
108|
&,
Podmier 3;;- OUTLET] =
,M,
N I A-RYUNG (] 2 106108/
Contraiond o~
r°‘3 el . Srieme
dl D
1T e e = i
167 121
445_25, 515
108
Sy oun.ErrJﬁ': =
| )
A-RYUNG (] o QLAY "‘
Centyuliasd o~
Raliteation dratems
=
. 5
MIN
L - - - i L JJ
B S i | L 5 ) T J

Circuit diagram sIEx Electric connection AME
AMGP-013(F), O15(F)
H| 3 Al (Resislive method)
CONNCTOR PLUG DEPOWER
@ t OUTLET . * ;_EEECK
o o)|(@ 0)| *
é FLOAT SWITCH CONNECTOR| PLUG FLOAT S/W OPTION
i /" (OPTION) 3 DBPOWER
O @\|(@ O\| ggaL aaru
@ @/|\B® @/ | xBLACK 4WHTE
2RED  3GREEN
ANK

, :
&_../

Analog controller type

Applications X2

AERA : Ols

RXQQ 1 SH7| — 3205t 0l5}
52| — 68cSt 0ot

PN ES|

FOlA : Plastic

7 © Aumnum

B3 : Pastic

7|0 H : Seel

ZJ7R0[= : Pastic

A2 - 80°COof6t

A H

HlofA! - Analog type

BIHALIX] : FS-A(MEIAIRY

EX:3A

Type of fuid : Oils
Recommended ol

Winter — belbw 32¢St

Summer — bebw 68cSt
Material

Case : Pbstic (ABS)

Cover : Auminum (ALDC)

Tank : Plastc (ABS

Gear pump : Steel

Saft guide : Pladic
Temperature : below 80°C

Oil Supply method : Froportional
Controler method : Analog type
Float switch : FS-A(OPTION)
Fuse : 3A

Discharge Time Interval Time

(ESA|IZH (7 ®X|A|ZH
1~10sec il 2f 2min O
11~30sec Ll OF 3min OlAt
31~60sec Ll oF 5min Ol
61~99sec LUy Ok {0min OlAt

O o= 215 Al ZEQIM &2 FOo| k|
82 70| 2|7 &85t hterval Time (ZFd §
XAlZhE dFelorsict EEAlZtol Hlah
hterval TimeO| &M ZE] =2 Co| &
Aol =l0f LSOl AR CEHEIR|of 2fs =
Ei7} XIS2E XAl =k T2t S0l 4
OH ChA| FHAROI 2iES 5HA| =ict,

m As this pump occurs the high heat in motor

when working, set the interval time following
the information. The motor stops automatically
by high motor heat ,causing the interval time
is shorter than discharge time. But the pump
works normally after motor cooling.

O wmaacoe 1t 15—



Oil Lubrication pumps

AMGP-025N Series

B XA LHEE o= EOIHe| Mol Qlsl etz gRElE Huz
A H2A] 2HHEH (OB EF) 2 REGIH ARSEICH

w57 FIS0| U2 7RIS AKSE 4 9

F

5 YrREE AR

du30| 22 1 ASE 2R Mo

B HI FMHY| Feed” HEO| AN =7| S
M7yt olotH 0| HES 0186l +5 577

b 7bssict

B S0= uEmlA MSMYTIA, SEPIA, QAP 1A, A7 A, AR 1A
H 2SHE7 Al S0l 22| ALSEC

AMGP -

Pump division

Reservoir Material
B3

Hmog

025N

- ST 110

No mark : Plastic

Voltage (V)

ST : Steel

e

mAMGP-025N Series pump lubricates intermittently the oil by analog
timer installed inside the pump with resistive distributor(DB type).

m This type is excellent endurance designed anti-vibration structure to

use much shock orvibration.

m This pump has alarm device when the oil is short and has terminal box
connecting with control device outside.

m As the pump is installed feed button switch inside of pump, it is easy to
remove the air and to operate by manual.

m This pump is mainly used machine tools, printing, foods, fabrics,
injection machine, press and various industrial machine.

Phase 1, Poles 2P
Discharge| Interval | Working | Reservoir | ., . Net
volume Time | Pressure | capacity VgL OuElet weight Motor | Fre- | Rated
Type _ ARz | EER Current
EZ Q2 | MX|AIZH A2 | eig gat ot PT =2t Output | quency | voltage "
cc min MPa Q ¢ kg =3 | =Op> | M™et ‘TAT"
W Hz vV
50 |100/200| 1.4/0.7
30
025N 1/8"
025N-ST 3~60 3~120 038 40 ~ (@) 2.8 15
500
60 |110/220| 1.2/0.6

‘ pump for all, all for pump




External dimension &=

268

150

10

182

OUTLET

1
(275)

@5

Analog controller type

, :
& -

Applications X2

AEFA : Ol

209

1 S&7| — 32cSt Olst
S| — 68cSt o5t

T

HOIA : Aumihum
714 : Plastic

B3 : Plastic / Seel
7|01 =2 Seel

= 710 : PFastic
AB2LE - 80°COl6H
gAY
Hioi4] - Analog type
AR : FS-A
BX:3A

Type of fuid : Oils
Recommended oil

Winter — belw 32¢St

Qummer — below 68cSt
Material

Case : Aluminum (ALDC)

Cover : Plastic (ABS)

Tank : Rasic (ABS / Seel
Gear pump : Steel

Shaft guide : Padic
Temperature : below 80C

Ol Suppy method : Froportional
Controller method : Analog type
Float switch : FS-A

Fuse : 3A

|| |
Wiz#’mg g

{DRAIN SOCKET)

izm_lﬂ.is_/

Discharge Time
(ESAIZH

Interval Time
(7t HX|AIZH

1~10sec il

oF 2min Ol&

11~30sec Ll

OF 3min OlA

Circuit diagram 22X

Electric connection ZM&=

31~60sec L

oF 5min Ol&

61~99sec Ll

oF 10min Ol&

AMGP-025N

H| 3 Al (Resislive method)

ey ?E
T

CONNECTOR

PLUG
(CNO]

CONNECTOR

Yo
® 0

PLUG

©e
@9

DSPOWER
% 1RED
2BLACK

FLOAT SAW OPTION
DBPOWER
@B0IL ALARM
X¥1BLACK 4WHITE
2RED  3:GREEN

B 0| Hx= AE Al 2EIM =2 Z0| it
B2 Hol| 2/ £56t hterval Time (71 &
XAlZhE AFsorsict, EEAIZHO| HIEH
hterval TimeO| oM REQ| =2 Fo| 24
Sl Zl0] L] 2Rk ORMEIR|O) 2f5H ZE
7t RAtse2 HxlAl =k a2t Fol Ale
™ ChA| HaERl ZIES ofA| #ICt

S

m As this pump occurs the high heat in motor
when working, set the interval time following
the information. The motor stops automatically
by high motor heat ,causing the interval time
is shorter than discharge time. But the pump
works normally after motor cooling.

O wmaacoe 164 17—



Oil Lubrication pumps

AMGP-**NS Series

AMGP - O0INS - TO3 110

Pump division J

YurE
ONS
O1B5NS
025NS

Reservoir capacity (1 )
= 8

No mark : 1.8

T03 : 30

Voltage (V)
4

e

B AMGP-0INS/025NS AR S& Hi= 7Ish] 29 FEh] Hug m AMGP-01NS/025NS pump is a resistive and intermittent pump, using
gk e (ARD-340, 350, PV O EfR)et Z8610] AtEEICE with measuring valve.

W SURIGH 2RI ERI U o2 APRPE Lislo] Qlof mmol ojg g Al ARD-340350andPVOYpel
Ho| 20l 0] ALR|2| ASE 7|AS HIORIX|Q ¢HZ36t 4~ Q= ttx}  m This pump have float switch and pressure switch inside to check the oil
71| 205 HofEIX|of el ZLERE & Q=S =0 QICt shortage and connect the outside terminal on main machine to control

_ the working conditions by monitoring.
w I MO0 Feed HIE AQR[7F LIRS0l 7| HHEIS 5t 5 HHZHRQ) Of 9 Y g

O 7Pt 20klH 0] HES2 0|85l 4= 227t 7issict m As the pump is installed feed button switch inside of pump, it is easy to

B O] S 7K W HASHS SAL olert remove the air and to operate by manual.

m This type is a kind of intermittent pump, so that the continuous

B 2= ZAYA, QAP |AH|, AETA AST A, ZelA 2 2IEAM 7|2 . Y
== SR, QP AZ7A, AEIA, e 271 operation should be prohibited.

Soll Z2] ALZEICh
m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.

: . . Phase 1@, Poles 2P
Discharge| Working | Pressure Reservqr Vel | Ol N.et Motor T Fre— | Rated
volume | pressure | range | capacity i — weight
Type sxonr | Almola | olaime) | emsar AI%S.t:.E EPET? =at Output | quency | voltage |Current
o—roo < = LA ot
cc/min | MPa MPa 0 ¢ kg 2 | Foi| dY | ©R
W Hz V A
125 . 50 |100/200| 1.7/0.8
OTNS 1.7 0.2~1.7 1.8 30~500 /4 3.0 25
015NS (6]
150 60 110/220| 1.8/0.9
125 18" 50 |100/200| 1.7/0.8
01NS-TO3 1.7 0.2~1.7 3.0 30~1000 (@) 4.0 25
150 60 |110/220| 1.8/0.9
125 18" 50 |100/200/ 1.7/0.8
025NS 1.7 0.2-1.7 3.0 30~1000 4.0 25
(6]
150 60 110/220| 1.8/0.9

. pump for all, all for pump




EEEEE———— e

External dimension &=

(280}

290
Electric connection ZM&E

L1l2][3]4]5]6]7[8]0]t0]

Circuit diagram 22

MM (Measuring method)
Q ﬁ’m

-

L

5 WAL RONT  PRESSURE EARTH
— i K S S S

Monitoring controller type

Applications X2

AERA : Ols
=Xl | S| — 32cSt 0[5t
57| — 68cSt Olat

R

AHOA : &=20|E (ALDC)
7AH : E2AE

3 E2AE

710 HI: Jeel

£ 7= : L0l (ALDC) e #e LhE
A2t : 80TCol6t
=R HEA

HlofAl - glE (Monttorng)
AR : FS-AB
LHAALIX| 1 PS-11

A OIX| - PG-35K

Type of fuid : Ois

Recommended ol

Winter — below 32¢cSt

Summer — bebw 68cSt

Material

Case : Aluminum (ALDC)

Cover : Plastic (ABS

Reservoir : Plstic (ABS)

Gear Pump : Steel

Shaft guide : Aluminum (ALDC)
Buit in Relief valve

Temperature : below 80°C

Ol supply method : Measuring

Controler method : Monitoring

Float switch : FS-AB

Pressure switch : PS-11

Pressure Gauge : PG-35K

Discharge Time
(ESAIZH
1~10sec iy
11~30sec L
31~60sec LIl 2F 5min 04
61~99sec il 2F 10min O
W 0| Hx= AF Al ZEOIN &2 S0| Wl

82 750 27 £55t hterval Time (ZFd &
XAlZhE dF™alorsict, EEAlZto] HlaH
hterval Time O Be™ ZEQ| =2 Z0| &
skl E|0] LHEO! AAE CHEER|of 2l 2
E7} X2 FMXetAl =ct J2i+ S0l A
O CIA| FeXe! 2SS st =it

L o=

Interval Time
(7 FXIA|ZH
oF 2min Ol&
9F 3min Ol&

M As this pump occurs the high heat in motor
when working, set the interval time following
the information. The motor stops automatically
by high motor heat ,causing the interval time
is shorter than discharge time. But the pump
works normally after motor cooling.

O wwommseore 184+ 19—



—_ ‘ pump for all, all for pump

Oil Lubrication pumps

AMGP-200NS Series

B AMGP-200NS A= R& Hig= 7t

2 (ARD-340,350, PVO EI2)2t

S —_1
il 5

Hoo| o4

oizist

2 R Hom A Hy
F8510f MEEIC,
= QU 2K BA U 2 AT} LiEEI0f 2Uo]

0| B0kl 0] A9RIS] AISS 7|74 HowIet

A 0]
T M

7+ 0] A= HlofEkx(of Qs ZLEE & 4= AES Tl QT

B HE M| Feed HIE ARKI7E LIEEIN =7 HIZE & &
o M7t ool 0] HES 01310

A o

B 0| HIms 7iEAl mmE A GARFE s O Eirk

b 7tssitt

Hii2hHel off

Reservoir capacity (4 )

AMGP -

Pump dvision

Hmps

200NS - TO3 110

23 2y
T03:30
T06 : 60

Voltage (V)

e

m AMGP-200NS pump is a resistive and intermittent pump, using with
measuring valve({ARD-340,350 and PVO type).

m This pump have float switch and pressure switch inside to check the oil
shortage and connect the outside terminal on main machine to control
the working conditions by monitoring.

m As the pump is installed feed button switch inside of pump, it is easy to
remove the air and to operate by manual.

m This type is an intermittent pump, so the continuous operation should

u Se= BRI, SPP, MU, MBI, Tas o Asmep s POl
ofl Z2| A==t m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.
_ _ Phase 1@, Poles 2P
Discharge| Working | Pressure Reser\{0|r Viscosity | Dutlet N.et YISy = ="
T volume pressure range capac|ty = = Welght
ype szoat | AR | g | o sar A%S?E EPET;L z=¢  Output | quency | voltage |Current
cc/min MPa MPa 0 ¢ kg =9 | ot | ®e | ®R
W Hz V A
200 50 |100/200| 4.8/2.1
200NS-T03 2.0 0.8~25 3.0 30~1000 | 1/4" ()| 5.4 42
240 60 |110/220| 5.0/1.8
200 50 |100/200| 4.8/2.1
200NS-T06 20 0.8~25 6.0 30~1000 | 1/4"(¢gg6) | 5.8 42
240 60 |110/220| 5.0/1.8




375

External dimension &=

(68)

100
75
-85

v B

0|
(283)

(140)

(127)

75

(68)

P

(215)

- 5
|+I =8
2 ls
g Lol 18
/ =
g
~ ||
{138)

Monitoring controller type

:
‘_../ '

Applications X2

MEFA 1 Ol
FHRYU : SFY| —32cSt 015t
5= | — 68cSt 05t

e

A0lA : L=0lE (ALDC)
71t : S2AE]

&3 : ZalAE]

710 HZ: Seel

£ 7i0[ : Y=0lis (ALDC) 22l e LHE}
A2 : 80Colst
SRUA - HER

HiotgA - 8= Montoring
HAALQIR| : FS-AB
YBALIR| - P51

A2H0IX| : RG-35K

Type of fuid : Ois

Recommended oll

Winter — below 32¢cSt

ummer — belbw 68cSt

Material

Case : Aluminum (ALDC)

Cover : Plastic (ABS

Reservoir - Pastic (ABS)

Gear Pump : Steel

Shaft guide : Aluminum (ALDC)
Built in Relief valve

Temperature : below 80C

Ol supply method : Measuring

Controler method : Monitoring

Float switch : FS-AB

Pressure switch : PS-11

Pressure Gauge : PG-35K

Discharge Time
(ESAIZH
1~10sec il
11~30sec LI
31~60sec Lmf
61~99sec Ll

Interval Time
(2 EXIAIZH
OF 2min O|At
SF 3min O|At
ok 5min Ol
2k {0min Ol&t

. _ : : W 0| W= &S A ZEOIA 52 HO| Lk
S ZAA s _
Circuit diagram 22T Electric connection ZM%= o= Ho| 97 255 hieval Time (218 &

L1[2[3[4]5]6]7]8]9]10]

WL FON  PRESSURE EARTH
S S S/

XIAZHE MYshoreict, E&AlZtol dlsh
hterval Time O] BoH ZEQ| =2 Ho| &
Aol =0 LHO| AR CIFER|ol 2lel =
EI7t Atse2 MX6tAl Eot J2it S0l A
O CIA| HAAR! 2ES i =it

S

m As this pump occurs the high heat in motor
when working, set the interval time following
the information. The motor stops automatically
by high motor heat ,causing the interval time
is shorter than discharge time. But the pump
works normally after motor cooling.

O mwnnseone 20+ 2] ——



Oil Lubrication pumps

AMGP-01N/02N Series

A-RYUNG

B AMGP - OIN, 02N AlRE REHIE= 2t 7|ARA0 FE RERE
ol | flell S5 1ok nHA, uREt Hoo|Ch 220 M2} H
HACR ALSSI7LT E= R EE

3

(ARD 340,350, PVO Etet =gt
5101 R WEE AIZECE (HRMOE AR Als ZY Mt &

ook 2tk

A%2 8 4 9lom w=et K2l

® alm Wt Rl o
SUE 740| 8okl

B 0| W= 7o mme N HERFS sl QLEC}

mE=32A ¢
ol 22| AksEIt

AP 1A, AZ7 1A, AMS7 1A, D2l 2

AMGP - 3M2 - 01N - TO3 - TY S

Voltage division J

|
3M2 1 30, 220V, 5080Hz
M3 1 30, 380V, 50/60Hz
3M4 1 30, 440V, 50/60Hz

Pump divson ——M———
HuE
ON, O2N

Reservoir ca pecity
B3 22H0)
TO3:3,T06:6
T2 112,720 : 20

Reservoir type
ERHAI

TY - Wall mouming
wioy 2

TZ : Bottom mounting
Hict At

Pressure switch (Option)
U AR (M)

m AMGP-01N and 02N type are designed specially to lubricate a high
precision and high discharge volume at every location on the machine.
It can be used resistive method or measuring method with measuring
valve[ARD-340,350,PVO type).
(When you use it measuring type, the venting valve have to be attached.)

m The pressure can be controlled because the relief valve is attached, and
it is easy to assemble the lubrication unit with tank.

m As this type is an intermittent pump, the continuous operation should
be prohibited.

m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.

Discharge | Working | Pressure Viscosit Outlet Motor Phéfe Fre- Rated
volume | pressure range Iscostly ure Output o= quency | voltage | Current
Type A%E‘E EsS = / ROLA ot =
ESQY | AU | gaiwe | T = 2 | ples | Fu | Y | =R
cc/mln MPa MPa ¢ W PN Hz % A
200 0.27
85 08 0 ) 3 50 380 0.17
1/8 415 0.13
01N 20 ~ ~ 25 /
20 500 (@6 4P 220 0.24
100 ’ 60 380 0.14
440 0.12
200 0.27
170 08 30 ) 305 50 380 0.17
1/8 415 0.13
02N 20 = = 25 /
20 1000 (6] 4P 220 0.24
200 ' 60 380 0.14
440 0.12

pump for all, all for pump



I

External dimension 8= Applications X2

AMGP-01N, 02N

&) 5 B
= w
|
2
N.et
Twe | A|B|cCc|D|E|F]| 6 |H/|J W%g':t
Kg
OIN-TO3 | 280 | 300 | 320 | 290 | 135 | 145 95x145 24 | 160 | 74
OIN-TO6 | 300 | 320 | 346 | 310 | 195 | 210 |95x145 24 | 160 | 8.1
OIN-T12 | 363 | 386 | 416 | 373 | 234 | 240 | 11x16| 24 | 160 | 9.8
OIN-T20 | 470 | 500 | 520 | 484 | 316 | 322 [12x17| 29 | 160 | 150
02N-TO3 | 280 | 300 | 320 | 290 | 135 | 145 95x145 24 | 160 | 74
02N-TO6 | 300 | 320 | 346 | 310 | 195 | 210 |95x145 24 | 160 | 8.1
02N-T12 | 363 | 386 | 416 | 373 | 234 | 240 | 11x16| 24 | 160 | 9.8
02N-T20 | 470 | 500 | 520 | 484 | 316 | 322 |12x17| 29 | 160

Circuit diagram 22X

Monitoring controller type

+ AERA - Ol

i

1 &&7| — 32cSt Olst
51&7| — 88cSt 0lst

- A

DE = : 2=0|E (ALDC)
7 |OfH : Steel

B3 : Steel

At Seel

S : Plastic (PC)

2= Wil - 2n)E (ALDC)

- A2 1 80COf6H

- SRYA A /A

« HofA : giE (Montorng
« YHEALQIR| 1 FS-A

o QUEAQIR| : MEARE

« YHADIX| 1 FG-35K

* Type of fuid : Oils
* Recommended oil

Winter — below 32¢cSt
Summer — below 68cSt

* Material

Motor flame : Aluminum(ALDC)
Gear pump : Steel

Reservoir : Seel

Plate : Steel

Level gauge : Phstic(PC)
Relief valve : Aluminum(ALDC)

» Temperature : below 80T
+ Oil Supply method :

Measuring method
Proportional method

» Controler mehod : Monttorng
* Float switch : FS-A

* Pressure switch : Ogtion

» Pressure Gauge : PG-35K

15.0 Electric connection ZM&E

HIZkkResistive method)

HE(Measurhg method)

#3—-PRESSURE S/W
67

L] L
Fé_%T m@uwne

1123

23

1 2|3 4

5
FLOAT
S/wW

O mwnnseone 24+ 23—



Oil Lubrication pumps

AMGP-03/05 Series

B AMGP — 03, 05A2)2 REdz=
57| el E401A| 10k
OZ MESIHLT E= HE
MR HOZ2 ALSEC (2

2ith)

2t 71ARA0 FEel 2
ik
( RD-340, 350, PVO Ef2t &
O2 AR

= aQ
= \Tr

HEo|ch So0f 2t ]k
250d
2| 010F

S
=
IE

HHH
=2—

= 2 Als HY Bt B

u 2o WEyL R YEREE o 4+ UM HMEeL 2EGHH
RLE ?’\o"OI E0lslct

B 0| W= 7 mme N SRR

qo
o

M2 sliA= OrErt,

mE=32A ¢
ol 22| AksEIt

AP 1A, AZ7 1A, ME7 1A, Z2a A ZSMHUA S

AMGP - 3M2 - 03 - TO3 - TY S

Voltage division J

T
3M2 : 3@, 220V, 50/60Hz
3M3 : 33, 380V, 50/60Hz
3M4 1 3@, 440V, 50/60Hz

Pump division
R
03, 05

Reservoir ca pecity
B3 22H0)
T03:3,T06:6
T2 :12, 720 : 20

Reservoir type

ERHAI

TY Wall mouming
i =

=t T—|
TZ : Bottom mounting
Hi=t 2

Pressure switch (Option)
U AR (M)

= AMGP-03 and 05 type are designed specially to lubricate a high
precision and high discharge volume at every location on the machine.
It can be used resistive method or measuring method with measuring
valve (ARD-340, 350, PVO typel.

m Whenyou use it measuring type, the venting valve have to be attached.

m The pressure can be controlled because the relief valve is attached, and
itis easy to assemble the lubrication unit with tank.

m As this type is an intermittent pump, the continuous operation should
be prohibited.

m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.

Discharge | Working | Pressure | . . Motor | Phase Fre- Rated
Viscosity Outlet ARA
Tvoe volume | pressure | range e | ex Output S quency | voltage | Current
yp S5 | A=Y | gaue | S ch 28 | ples | FO | we | mE
cc/mln MPa MPa W =PN Hz v A

200 0.54
250 08 30 } 30 50 380 0.31
1/8 415 0.27

03 20 ~ ~ 50 /
25 1000 (6 4P 220 0.6
300 : 60 380 0.35
440 0.30
200 0.54
420 08 30 5 3¢ 50 380 0.31
1/8 415 0.27

05 20 ~ ~ 50 /
25 1000 (@56 4P 220 0.6
500 : 60 380 0.35
440 0.30

pump for all, all for pump



I

External dimension 8= Applications X2

AMGP-03, 05

(25)

Net
Twe | A | B |C|D|E|F| 6 |H|J Wi

E=x=}

Kg
03-T03 | 280 | 300 | 320 | 290 | 135 | 145 |95X145| 24 | 160 | 94
03-T06 | 300 | 320 | 346 | 310 | 195 | 210 |95X145| 24 | 160 | 11
03-T12 | 363 | 386 | 416 | 373 | 234 | 240 | 11X16 | 24 | 160 | 13
03-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 12¥17 | 29 | 160 | 17
05-T03 | 280 | 300 | 320 | 290 | 135 | 145 |95X145| 24 | 160 | 9.
05-T06 | 300 | 320 | 346 | 310 | 195 | 210 |95X145| 24 | 160 | 11
05-T12 | 363 | 386 | 416 | 373 | 234 | 260 | 11X16 | 24 | 160 | 13
05-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 12¥17 | 29 | 160 | 17

Monitoring controller type

+ AERAl - Ol

- FERY

1 &&7| — 32cSt Olst
5F=7| — 68cSt olst

- T

HE D] - 2E0|5 (ALDC)
7|0 - Steel

&3 Seel

Ak Seel

S| : Plastic (PC)

a= e 220 (ALDC)

+ AB2L : 80°COlot

o SRUA T A/ HR
* HlofA! : giE (Monitoring
. HRARIX] D FS-A

o UTAQIX| : MEHAIRE

« YHADIX| 1 FG-35K

* Type of fuid : Ois
* Recommended oil

Winter — below 32¢cSt
Summer — below 68cSt

* Material

Motor flame : Aluminum{ALDC)
Gear pump : Steel

Reservoir : Steel

Plate : Seel

Level gauge : Phstic(PC)
Reliet valve © Aluminum(ALDC)

» Temperature : below 80°C
+ Ol Supply method :

Measuring method
Proportional mehod

* Controler mehod : Monitorng
* Float switch : FS-A

* Pressure switch : Ogtion

* Pressure Gauge : PG-35K

Electric connection ZM&E

Circuit diagram 22X

=

HIZkkResistive method)

6

"~ 1

HE(Measurhg method) R

#3—-PRESSURE S/W
6|7

LI L
Fé_%T PR?U}WRE

1123

23

1 213 4

5
FLOAT
S/W

O wmaacoe Uit 20—



Oil Lubrication pumps

AMGP-03C/05C Series

B AMGP - 03C, 05C A2 REHTE= 2t 7(ARA HER| RERE
223171 sl S45bAl motE DER DR WoOIh S0f w2}
Ao Z AIEsI7Lt = FEF WE (ARD-340, 350, PVO EIet =
Slof YR W2 AISEIC) (HRMOE AISE Als Y Mt &
=0t Sich)

rul

o

2

® LAl W} RS0 ASEES ¥ 4 oM YHet IRGI0 21
QLE 50| Sopitt
w O] M= 71e| HER A FIASHS s otert

B B== S,
o 22| AkS=ict,

QIMP A, A7 A, ME7 A, Zails 2 ZASMAHA S

AMGP - 3M2 - 03C - TO3 - TY S

Voltage division J

kel

3M2 1 3@, 220V, 506 0Hz
Pump division

R

03C, 6C

Reservoir capecity
B3 820)

TO6 : 6
T2:12,720:20

Reservoir type
HRHEAI

TEo

TY * Wall mounting
e 2}

=T

TZ : Bottom mounting
Hi=h 22

Pressure switch (Option)
U AR (M)

= AMGP-03 and 05 type are designed specially to lubricate a high
precision and high discharge volume at every location on the machine.
It can be used resistive method or measuring method with measuring
valve (ARD-340,350,PVO typel.

m Whenyou use it measuring type, the venting valve have to be attached.

m The pressure can be controlled because the relief valve is attached, and
itis easy to assemble the lubrication unit with tank.

m As this type is an intermittent pump, the continuous operation should
be prohibited.

m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.

Discharge | Working | Pressure | . . Motor | Phase Fre- Rated
Viscosity | Outlet ARA
Tvpe volume | pressure | range NEms | ssa Output <™ | Quency voltage | Current
7 SER3 | Mg | gEwel | TSl BT B3 | poles | Fh4 | TA | HR
cc/min MPa MPa W =P Hz % A

250 08 0 . 3¢ 50 200 0.54
03C 2.0 ~ ~ (56) 50 /

300 25 1000 4P 0 | 20 | 06

420 08 30 - 3% 50 200 0.54
05C 2.0 ~ ~ (56) 50 /

500 23 1000 4P 0 | 20 | 06

pump for all, all for pump



Monitoring controller type

- AKBRAl : Ok
£HOY : S2| —32cSt 0[5t
87| — 68cSt 0[5t

b 3]

F DR : Y=20lE (ALDC)
7|0 : Steel

£ : Seel

At Seel

{9 : Pastic (PC)

glajm 4 - o20|E (ALDC)
Atg2% : 80cokst

SR ¢ HEA! /gl

« Mol @ g3 (Montoring
AR : FS-A

o QUSAQIR| : MEHAQE
AHH0|X| : PG-35K

29) |

Type of flid : Ois

* Recommended ol

Whter — bebw 32¢St
Summer — below 68cSt
Material

Motor feme : Aluminum(ALDC)
Gear pump : Steel

Reservair : Seel

Phte : Steel

Level cauge : Phstic(PC)
Relief valve : Aluminum(ALDC)

3
;

Type | A | B | C | D ]

03C-TO6 | 300 | 320 | 346 | 310 | 195 | 210 | 9.5X14.5| 24

03C-T12 | 363 | 386 | 416 | 373 | 234 | 260 | 11X16 | 24 | 160 | 13

03C-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 12X17 | 29 | 160 | 17

© 05C-T06 | 300 | 320 | 346 | 310 | 195 | 210 [9.5x145| 24 | 160 | 11 * Temperature : below 80T
+ Oi Supply method :
05C-T12 363 | 386 | 416 | 373 | 234 | 240 | 11X16 24 160 13 Measurng method
Proporfonal mehod
05C-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 12017 | 29 | 160 | 17 + Controler mehod : Monitorng

* Float switch : FS-A
* Pressure switcn : Option
* Pressure Gauge : PG-35K

Circuit diagram 2|2= Electric connection ZME
Hl2iixlResistive method) Q Zakl(Measurng meihod)s
- GUTLEF @ e - OGLEr CONNCTOR PLUG mg PONER
| I o @ @\| /@ @O\|=x1tredD 2BLACK
. < tL $—| ® ®)|\® @/ 3wirescreN

CONNECTOR|  PLUG

(X2 © OL ALARM
® @\|/® O\|em : presswe sw
@ @/|\® @/|=trReD 28LACK

IWHITE 4GREEN

o WWW.aryung.co.kr 26+ 27 I

Ha
5 i

—x 1

o
;

0



Monitoring controller type

AMGP - 3M2 - 053 - TO06

Voltage division

M

3M2 1 39, 220V, 50/60Hz
3M3 1 39, 380V, 50/60Hz
3M4 : 39, 440V, 50/60Hz

Pump dvision
Yo E

Reservoir capacity (¢ )
271

Plastic(Standard) :

TO6 : 604
SeelOption) : T12, T20

B X0 ERO Lol AtSkl= 7teh REaR HEEAM SR/MHA A B AMGP-053 type is a kind of intermittent pump in stalling outside

27t B S57MA7F Lot TE CHERI0| =St 7RI REES controller. It is used mainly the remote location or many lubrication
Ol eBIct, L5t Hakl -E—HHEI(ARD Series, PVO Serieg 1t =850 spots with measuring distributor.[ARD Series, PVO Series)

ARE01 73l m As the pump is installed Relief valve and Float switch inside of pump. It
B 22T ey LHEE|o] (R E0| 2okl M ZX| ZXP) LR is easy to control pressure and the oil shortage.

(o] =] LIE{2l =5 . . . . . .
201 SIS0 2-EIZI0l Thssict, m As this type is an intermittent pump, the continuous operation should

B 0| HI= 7oAl mOs A HASKME M= OHEr} be prohibited.
B 2= ZEPA| QAP A, AET (A AST A, Zen Y ZEEMAT A m This pump is mainly used machine tools, printing, foods, injection
Sof g2 Al2=c} machine, press and various industrial machine.
Discharge | Working | Pressure| .. . Motor | Phase | Fre- Rated
Viscosity AR Current
Tvoe volume |pressure| range JUE Out-let Out-put O/ quency |  voltage -
e Essy s wmwe 0T Esn 8 | e | FOR| oY o
cc/min MPa MPa ¢ W =9 Hz \%
420 "";t‘*XL-E’Pd 50 | 200/380/415 | 0.79/0.43/0.39
AMGP-053 28 | 08~30 | 20-1000 iPTa? y ;.r 90 | 3¢y 4P
500 . Option ] 60 | 220/380/440 | 0.63/0.37/0.39
External dimension 2= Circuit diagram 32T
| & 258
ﬁ‘ i g__u‘z“g__ o , OUTLET
i = [ |

-
T T Venting Valve
= 4
ey 00 I I
VIEW A"
Venting Valve
Ralief Valve \\ | Refief Valve-|
. ) 5| = -+ ,I_I.\nml Switeh
s e i H H
b b =1

40,5 |
Qui=lel

60

| 135
(135

15

(LY

(220)

RN

TANK

G
i

|

2

. pump for all, all for pump



Manual type

ALP-8LF Series

ALP - 8 LF - L

Discharge Volume
EERY

Pump division
g2

Discharge drection

EEF Uet
L: Left
R : Right
D : Doubk
B £3A Lever HI2M ALZ0| ZHHSIHH, M= W7} LHER|O| ARt m This type is a kind of manual lever pump, and it has a check valve
YX =t inside to prevent the oil from reserved flowing.
B A3 ZA2toz EAF Qx| MEO| 20|51 20~40 WAV 28 227} m ltissolightand small that easy location and can install 20~40 points.
7tsalct,

= This pump is mainly used machine tools, printing, foods, injection
B AR S0 HE ZZP | A7, AP IA, AS7 1A S 24E M machine, and various industrial machine.
7|70l Ee| &EEC,

: ! 2y — —
ALP-8LF External dimension 28T Applications &

MERA - Ok
MU 1 SEY| — 32¢St 05t
S| — 68cSt o5t

XA
&3 . &=0|E (ALDC)
S : Plastic (PC)

YA - bl

1.5

1~40

Type of fuid : Oils
Recommended oll

Winter — below 32cSt
Summer — below 68cSt
Material

Reservoir : Aluminum(ALDC)
Level gauge : Phstic(PC)
Ol Suppy method :
Proportional method

600

30~ 1300 Is

/8" |

el e

\\\..'_:}._I ) e |

1.4 .
VIEW “A

o

O mwnnseone 284 29—



Manual type

ALP-7LH Series

ALP - 7 LH - R

Discharge Volume
EERY

Pump division
g2

Hande direction

N -
£F0| Yef

L Left
R : Right
B 3A Lever HIZ M AKEO0| 7HEGHH HITEETL LR HR7t & m This type is a manual lever pump, and it has a check valve inside to
X|ECt, prevent the oil from reserved flowing.
B ES2 AE0| THssi 20~A0MA TR REZST} THssiC) m ltis possible to adjust discharge volume and to install 20-40 points of

lubricating place.
B AE E= UESZTA ARIIA, AP 17, AE7 171 S 245 AP
7ol £ &SEc = This pump is mainly used machine tools, printing, foods, injection
machine, and various industrial machine.

ALP-7LF External dimension 2T Applications =g

AERA Ol
S SEV| — 32¢St Olak

S| — 68cSt olst

YR
3-87 HOLES 845 : =05 (ALDC)
- QU : Plastic (PC)

Eh el |

0.55

(167)

1~40

Type of fuid : Ois
Recommended ol

Winter — below 32¢St
Summer — below 68cSt
Materia |

Reservoir : Aluminum{ALDC)
Level gauge : Plastic(PC)
Oil Supply method :
Proportional mehod

800

30~ 1300

1/8"

VIEW "A"

1.2

. pump for all, all for pump



Proportional Distributor

DB Series
DB - 4 M
Digributng points J
=2l P

Screw sze | branch pipe
X|uH2t 74

M:M8 X 1.0p

PT :PT 1/8"

DB type Hlgk BHHo=A XMEW| Mu  m DB type is a kind of proportional distributor

Central | Branch | Using o ZBlIK ALZEICE using with resistive pump.

Type pipe pipe |pressure
ZEHRet X|HHEE | Akt

B Flow untt, Check vave 53t =&861{ Al2  m This type have 3-10 holes to use by

DB~ M| M8x1.0p| M8x1.0p 0.8 MPa S HiEt 1 HE 37200 107 ZEX] ULk combining flow unit and check valve.

DB-%PT| PT 1/8" | PT 1/8"|0.8 MPa

e | poin Dimension weight
A|B|C D E| F| G| N/|[NI 390
DB-3M 3 - - | 30 (M8x10p|95|235] 14 | 3 1 31
0 A _i0_ DB-4M 4 16 | 36 | 48 |M8x1.0p| 11 | 28 | 13 | 4 2 65
18 MN1-#6.5 HOLES DB-5M 5 32 | 52 | 64 M8x10p| 11| 28 | 13| 5 2 82
[/ DB-6M 6 48 | 68 | 80 M8x10p| 11| 28 | 13| 6 2 102
@ ﬁLA’ DB-7M 7 b4 | B4 | 96 M8x10p| 11| 28 | 13| 7 2 123
M DB-8M 8 80 | 100| 112 (M8x1.0p| 11 | 28 | 13 | 8 2 145
' DB-10M 10 [ 112]132| 144 |M8x10p| 11 | 28 | 13| 10 | 2 186
]
f f Net
Type Points Dimension wggl:t
A| B| C D E| F| G| N | NI 390
DB-3PT 3 - - | 30| PT1/8" |95|235] 14| 3 1 31
DB-4PT 4 16 | 36 | 48 | PT1/8" | 11 | 28 | 13 | 4 2 65
DB-5PT 5 32 | 52| 64 | PT1/8" | 11| 28 | 13| 5 2 82
: DB-6PT 6 48 | 68| 80 | PT1/8" | 11| 28 | 13| 6 2 102
VIEW "A” DB-7PT 7 b4 | 84| 9 | PT1/8" | 11| 28 | 13| 7 2 123
DB-8PT 8 80 (100|112 | PT1/8" | 11| 28 | 13 | 8 2 145
DB-10PT| 10 | 112|132 |144| PT1/8" | 11| 28 | 13| 10 | 2 186

/
c O WwWw.aryung.co.kr 30+ 3



Proportional Distributor

AR-B Series

AR

- B
Digrioutor division J

S 7

Distributng points
24l 2

B ARB type2 Hlgt RHHOZAM el ©  m AR-Btypeisakind of proportional distributor
Central | Branch | Using

Ty ooe oioe |pressue Lot XEBIH Ak2=ICE using with resistive pump.
2 | XlbHEE | AL U
B Flow unt, Check valve &1t =gl A2 m This type have 1-10 holes to use by
AR-Bx | PT 1/8" | PT 1/8"| 0.8 MPa SHH Hi2 -2 17200 1072 ZEX] Act combining flow unit and check valve.
Circuit diagram s|2Ex
; Dimension Net
s Point wggl:t
20 B 20 (N) A B C sgo
N-PT 1/8 2-04.5 HOLES
2 | / | S B 1| 40 0 20 | 21
- = B2 2 63 23 43 33
2 AR{B5 | & <t
: B3 3 86 46 b6 45
10 10 B4 4 109 69 89 57
. B5 5 132 92 112 69
/3 Bé6 6 155 115 135 81
2-PT 1/8 ——'—]——
T B7 7 178 138 158 93
-— =
e | B8 8 201 161 181 105
VIEW - A B9 9 224 184 204 117
B10 10 247 207 227 129
Assemble flow unit A of])
!
o -3l
. P
byt |
1 Mm S © o om m
~ e BRI

. pump for all, all for pump



PVO Series

= Q2| QX SV} Kot HY

Measuring Distributor

, :
&_../

PVO -

3 M

Digributng points

S 74

Central pipe screw size
LEAL 722

No mark : PT 1/8'

M8 : M8 X 1.0p

M10 : MIO X 1.0p

Al2EIO] AMSSIES HIEE

<
aT
TEHRE M2kl SR

B AlAE] M Al DBY FHiHEE AESI0 AKZSICE

External dimension &=

R AlAH 700 MBI

= ez
T UAE EA

x

m The PVO measuring valve is made to use intermittent system, and can
lubricate the oil by piston stroke.

m It is suitable to utilize precision lubricating system because of little
allowance of oiling.

® Itis combined with DB type distributor when installing system.

(B) _ Discharge Using Bore of pipe
_ HEX12 Tvoe Volume pressure L
| N _, » ssgz | AgyE | mm
1 3] cc/st MPa (A) (B)
PV0-3 0.03 0.8-3.0 445
PVO-5 0.05 0.8-3.0 445
| PVO-10 0.10 0.8-3.0 445 PT1/8"
PV0-20 0.20 0.8-3.0 535 M8X1.0P | M8 X 1.0P
PV0-30 0.30 0.8-3.0 53.5 M10X1.0P
BN PVO-40 0.40 08-30 65.0
(A) PV0-50 050 08-3.0 65.0

Assemble flow unit AK2 of)

Example A2 o)

(1)

I}
S
222

s

A

\
\
\

777

(2)

TSL-
AR

(.Ik\\\
/I
5 X -

&

=
;L

2007

il

27

/7

t t

5
g
!

5,

Before Venting Ver* thg Measurng T
(Sarting pump) {(Operating pump) (Sopping pump)
c O Www.aryung.co.kr 32+ 33 .



Oil Lubrication pumps

ARD - 340/ 350 Series

ARD - 35 3 - 223

Division
T

Distributing points
2HH P

Valve classification code
REIE

the oilin front is

B ARD-340, 350 Mz = 7IEM 28 AJAHI| ALSSI=E HZlE @ m The ARD-340, 350 of measuring valve is made to use intermittent
H2 M DAE Az(| o5t HEFo| RESE JEEIH 298 £ 9z E system, and can lubricate the oil by piston stroke.
A HEaw weo|t S " - . .
m ltis suitable to utilize precision lubricating system because of very tight
B Q2P| Qi HOP| X0} MY 28} A|AH LAY X5l allowance of oiling.
Using Bore of pipe Net Discharge
. . Valve
= Discharge pressure ] ] weight Code N Volume
ype Brefirtis Al ota Central pipe Branch pipe == :,Ocemg. -
STy MPa Z 2 X|6H 2 g === cc/st
ARD-342 2 0.8-3.0 M10x1.0p M8x1.0p 115 1 0.03
ARD-343 3 08-30 M10x1.0p M8x1.0p 163 : 2
ARD-345 5 0.8-3.0 M10x1.0p M8x1.0p 249 4 0.16
ARD-352 2 0.8-3.0 M10x1.0p M8x1.0p 239 3 0.1
ARD-353 3 08-30 M10x1.0p M8x1.0p 314 ; Lt
ARD-355 5 0.8-3.0 M10x1.0p M8x1.0p Lbh 7 0.6
Example to order == i) 006 | 006 | 010 | 0 | 0
h ARD-340 wpe T discharge point is 5 and discharge voumes are. Order code 2 2 3 1 1
ARD-340 EIZ0IIN 95 2R 578 F2 SluAte o, Order No. ARD-345-22311
Operation Description & X
The oil allocated for When the control In release of main
the lubrication point lubrication pump line pressure, the
isin front of the begins feeding oil, pistonin the
piston in distributor. the piston is moving, distributor returns to

its initial position,

delivered by main allowing the oil to
line pressure(8~30bar) flow into the space in
to the lubrication front of it.

point.

—— . pump for all, all

for pump




External dimension &=

Measuring Distributor

D M8x1.0p
17
HEX 12
| .l rs
N-26.2 HOLES T
T O
| : 1 :.3 i
NI I w0
it tang L |_; Type | A B C D
L _ N s . B
~ggssa|-— 4
342 | 48 | 24 | - | 17
2-M10x1.0p C 8 |85
B | e 343 | 65 | 325| 17 | 34
A 345 | 99 | 495| 51 | e8
D M8x1.0p
17
HEX 12
L i
4 [
ata +
3
] J_ o 3 Type A B D
R
352 45 225 17
NE - 353 62 31 34
2-M12x1.0p B \Le7 Hote < |J 1
A 20 355 95 475 68
Example for using Distributor connection AR Ofl)
| ARD-340Seres | ARD-30Series '
- :
% t 4 4 4 }
: : * @ &i 1 1 |
ENE E ==
2 I ] :? _? &
lulicy S Ep S Hge-
0 O www.aryung.co.kr 34+ 35 -




Oil Lubrication pumps

Flow unit - AJB, ASA
AJB - 0

Unit division J
FLE 72
Classified number
2FHs

B Flow unit= H|EK 2H7 |2A DB StHHDE eI A2t 4= Q= m The flow unit is a proportional distributor, one is AJB type to combine
AJB 1t 7 [AE SHAN ZEEl= ASAZ0| T DB distributor, the other is ASA type to set units at the oiling points of

u Seiso] m2 HiAslo] 2SV1 O[SOIKIN Hav) HaeE wage  Tednesde

HiZ =7} sich m It lubricates by code number of discharging volume, the code number

B SHO| B2 WSHIAZ SI%OM Check vaverh LIAEI0] Si=ix| o increases, the discharging volume increases twice.

=Lk m The flowing direction is marked and the check valve protect the
reversed direction working.

AJB Series Flowrate | Usingpressure | Viscosity

_ Type | 00N g A e

e % MPa cSt

AJB-03 03 1.2 0.15~2.0 20~500
r— RS AJB-02 02 25 0.15~2.0 20 ~500
‘F of 2 AJB-0 0 5 015-20 | 20-500
1 AJB-1 1 10 0.15~20 20~500
ool w . . AJB-2 2 20 0.15~20 20 ~500
T e |7 [ ws | AJB-3 8 40 0.15~20 20~500
0 ) AJB-4 4 80 0.15~20 20~500
AJB-5 5 160 0.15~20 20~500
AJB Series Flowrate | Using pressure | Viscosity

HEX 100 o0 4 1o Type (E:C’)ieul:li H||=F Al=2otz b [

MBx1.0p PT 1/8 = 0/o MPa CSt
/ ASA-03 03 1.2 0.15~20 20~500
—

INET _ f _ Il OUTLET ASA-02 02 25 0.15~2.0 20 ~500
—= H‘ o - —= ASA-0 0 5 0.15~20 20~500
i S ASA-1 1 10 0.15~2.0 20~500
p—. ASA-2 2 20 0.15~2.0 20~ 500
T es |7 | 8 _ ASA-3 3 40 0.15~2.0 20 ~500
. (25.5) i ASA-4 4 80 0.15~20 20~500
ASA-5 5 160 0.15~2.0 20~ 500

Before instaling this system, check and
handle carefully the direction of oil flow.

If not, it is possibke to damage the
pump by excessive turning of screw.

. pump for all, all for pump




AOML-3000 Series

External dimension 2=

FILTER & RE' UNIT

e T I |

180

_Lé.a..\_r.._ui«

AIR IMET
-—

B AOML-3000% Ci mist= B2 HIIl ZHE(0f
UX| ¢4 Air S 0131 il E= CodantE

Nozzle Jetg Eol0 BAIAIZ[= AZ2|0] AJAE
olct,

B AOML-3000C&2 CIX[E MOt LAAE AlA
HozZM EEARIZ 7HEsHH AXE 271 Qlct

B & 2= ZE 7[AEKIC Chain, Gear, Troley
corveyer 52 20| FoEo|H, ZaA 2 ¢
Rol feeder, AE7(9] OI3M =X S0 22| AR

=it

B X8t Tapping, Driling machine & S&7(7 24t

Oil Mist Lubrication

AOML - 3000 C - 220

Reservoir Capaciy
EEEL

Controler

HEEY

No Mark : Without
C : Buit=in
Voltage

et

= AOML-3000 type is a kind of oil mist system,
without pump, spraying oil or coolant by air
pressure with nozzle jet.

= AOML-3000C type can be easily set the
discharging time by inner digital controlling

system.
= The main usage is to lubricate chain& gear of
machine, trolley conveyor, press mold, roll

feeder, separating paint of injection
machine.

m It is used tapping, cutting of drilling machine

{325)

DUTLET
-—

2

g

7IEAl R 9 $4Z0= & Maloit, for oiling and cooling.
Working Reservoir . . Net
Tyme Pr?:?].lre Capacity VIS; 4o;ty Vz&:i%e Controller | Weight
AbE otz B S SEF ?St T/u TEES 2 =2
MPa 2 Kg
3000 0.1~03 3.0 2~200 | 110/220 X 4.7
3000C 0.1~03 3.0 2~200 | 110/220 | Built-in 6.0
*Caution

Keep the ar pressure down to avoid tank broken causing higher pressure

=om

o—

Air ¢20| 12

57 o 4 o

oo A8Y olste RAIE %,

50 {30)

L1

- T ommmre— —yW Ko =

g/

N uE.0n(0L e
\ \_2=955 HLES
| FLOW CONTROL /Y
Standard Oilin-let Airin-let L1 Net Weight
Type o
mxmml | ez | ooy (mm) a2
JET-250 250 @b @6 250 153
JET-300 300 @b @6 300 172
JET-400 400 @Gb @6 400 210
S RA we g LA Qo) Ol 9= B ltis possible to control the discharge volume

B

0| 7ts35lct,

because it has control valve inside.

O wwermnseorr 364 3]




Oil Mist Lubrication

Panel description El0|H HF Y Setting instruction of digital timer

1) 2z 1) How to set the timer
MODE m : ATAIEE 0|5 Axetz MODE m: Starting set, Move, Finishing set.
A 3x2El A :Numbersup
A\ SN ¥ : Numbers down
A @Y Mode "W" buttonE 18 £2®  A)lf you press the button” m" one time, the
hterval tme2| =XPt A2l ojul D interval time mode begins blinking. " A"
‘A’ butong FEH £APH STt OH button increases the numbers to set the
@mp c € V7 buttonS F2H AP BASICEL Hsk= interval time and " w "decreases the
Interval time2| X0| &ZE|H CIA| @H numbers. When it finished, press " m"button
ME=30000 Mode "' luttonS 18] =23 Discharge again and the discharge volume time mode
CEWEEQUBRIE%IU&ﬂSWS “mtio| FAP U:ng 3”[”5 EKDEE blinking, " A"button leads to increase
DS IS DA bunonf = Tfp 7I°h—® numbers and "w " to decrease the
H OV buttonS F2H X7 LS discharge time. Press again the MODE "m"
INTERVAL TIME DISCHARGE TIME El51= Discharge time & 20| #=22 © to exit the setting program.

H Mode "®" buttong =21 &% MODEE

BJIf you don't press the button within 10
A Lt FCE

Digital Control system

HOBE mu mn B) MEZZ 102 O|Ul 01S2 22| glou iecopds, ctjhz tlrr;er recsgnlzestthe t.seltltlng
0| Smsl som 7ixEo] S0z imeis endedand operates _ automatically.
mumn AlElE MEkEIC} C)Whenyou press“A"," w"button  everyone
0 OA g I)uttdn% 18] == moi} 12EM time, everyone number increases(decreases).
5 2ol Aot S2m o opt gighy A RColfuncon |
= zkert When you push the "RESET" button  during
2) RIéSEr 715 the operation, the mode returns  to starting set
=3
270| TS0l AEDIM RESET' butor & Mode.
201 MAlE| 2757 |AEF CRA| AJSIEICH 3) FEED button( manual oiling)
3) FEED button 71 (&% 2 If you press "FEED"button during the
@ - Feed buton 70| RSSOl AEIA “FEED" button &= operation, the oil discharges regardless the
@ : Reset bution =01 BAR| TFEED'7H BAEH Mypm}h setting mode, also this button can  be used to
@ : Mode button ZARI0| =21 U= =0t Oib| ES=CE 4~ remove the airin pipe or by manual.
@ : nterval FND o= GRatTAt 8 1 0B AIZE 4 OM'cr
® : Discharge FND

Single jet circuit view +-s5 HouEs i e -

OIL CAP & STRANER

AR INLET

.\ ;
NOZZLE JET / A T"’"| -: } @ % an
/! T
AR HOSE / / ZEFI 15{:? /18 IFF= = 2-FT 1/4* Ea
ouiLl NIPF'LE
OIL_HOSE @lil UNG
18

Multiple jet circuit view i e Ty

AR HOSE \ _FILTER & RE' uUtaT
NOZILE JET / —— |
- OIL CAP & STRAINER

4 ; ) AR INLET
NOZZLE JET 7 - i dn -

ar wose [/ 2-pT 18 /LG
fouTLET)

e T controuten

. pump for all, all for pump



Oil Mist Lubrication

AOL 4 Series

AOL 4 - M5

Pump division
Hopg

Mixing valve point

m AOL Series is high performance for lubricating and cooling efficiency

B xuL 228 oo B2 Y Was byt f40ith
N - for high speed spindle bearings.
B LIAE ZES20] sl XISRE A R& 277t 0IF0X|H &S
AlO| 7k O|AIRS ZHR| 2 Alo| RO[BICH m The controller in cabinet automatically operates by interval time so
B 27} OUS BEWH SARle SSMILL xEK QI Do thatitis can to check the troubles easily during working time.
T FAD|A| AR[Q| A|ABI TADI| 1S FBlSICE m As measuring type of distributor, Mixing valve with air and oil mixed is

suitable for high speed operating machine.

Discharge . . Air . .
Type volume Dlscihii_eli?mt Pressure \1';;0;'; Luh:‘r;;a;;on Control Air Air-0il
= = =2 =1 = =
EZQat (RireOil oflo] ot St Sarum Method In-let Out-let
cc/st MPa
B B B B Measuring Digital PT1/4" | M8 x1.0p
AOL 4 0.03~0.16 2~6 03~05 10~100 izt Al Cix|e () ()

Circuit diagram s2Ex

..‘:.."*@"é.?"‘g"’

External dimension &=

@“@

Cx - v

|
!
!
»:oon |
L : AR J
B AR+OIL

Electric connection ZM=

(450)
155
7 B
ELECTRIC WIRING DIAGRAM
&
2 [18]17]16]15]1a]sa]12]11]10] 0|8 |7 [6]s[a]a]2]1]
b a
g ITl
ﬂ;m = LITLET &" AR SENSOR FL?I SN | AFIH §Ig"ﬁ m
= o oL e T MR Soz00
Q
< 2 A L AT ATEHE Y A - BEAMY
\], = = - B:B MHE Y Al - ME{AlRF
FLOAT S/'W
et : , 1 AIRSH MOTORZ} 1B (0] B2t Al - MufAle
. (195) | 2 : AIRSH MOTORE ®2|8HAM S Al - EEAMY
ViEw "A7 N AR S
c O WwWw.aryung.co.kr 38+ 39 —




Oil Lubrication pumps

ARD - 440 Series

B ARD-440% 2HiHMixing valve)2 27k 2eS E8A|H EAbl=
AR5 FHIHO 2 A 11 HID[A XL A|AR F40] oS &gelct,

B RESE ARl 7 Z2517| IR0 SERE0| 2ASE OHBIH &
B|IFEl= 7|ARIR| S o= o=l S20| O|F0{RICt

B Air ZEHO| LHEE|0] Qlof S U Eo0f 2 F4ut S EZF0)

Halict

ARD - 44 3 - 223

Division

=

Digributing points

S 74

Valve clhssification code

CHEIS

m ARD-440 type is a mixing valve spaying oil and air together. It is
suitable to use high and precise machine system.

m [t maintains low temperature to operate high speed operation
provided air and oil.

m This type has inner the air controller to adjust easily air pressure
according to usage and lubricating area.

Using Bore of pipe Net Discharge
: . Valve
Tvpe Discharge pressure weight Code No Volume
yp Points JNE=XI =" Central pipe Branch pipe =af o EH;' E= ot
EE=EN MPa ZeHf 2 X|uH 2 g TE=EE cc/st
ARD-442 2 0.8-3.0 M10x1.0p M8 < 1.0p 310 1 0.03
ARD-443 3 0.8-3.0 M10x1.0p M8 x1.0p 400 ; ook
ARD-444 4 0.8-3.0 M10x1.0p M8 x1.0p 490 :
ARD-445 5 08-3.0 M10x1.0p M8 x1.0p 580 3 0.10
ARD-446 6 08-3.0 M10x1.0p M8 x1.0p 670 4 0.16
p | = |
Example to order £& 0ll) 0.0 006 010 003 003
h ARD-440 type T discharge poit is 5 and discharge voumes are. Order code 2 2 3 1 1
ARD-440 EI2DIIN 2= QLB EQ|57E =2 SIuRIE! ij, Order No. ARD—445-22311
External dimension 2I&8x
8 Waas 7.3 Disch_arge
bbb |oumer h Type point N w L
i %] % 2-96.5 HOLE : 2 =tll7<
— Oﬁ] 18Il s ARD-442 2 17 | 39 | s
2|2 b |
By § mwe  fB<wmw (@ ARD-443 3 17 | 56 | 68
8 o < INLET(OIL) | —-
: N? -3 - = |, ARD-4bts 4 17 | 73 | 85
17| (N%3=51) ‘ an
@ L & ARD-445 5 17 | 90 | 102

. pump for all, all for pump



Oil Reservoir

T1.8
(180)
|
200
- A-RYUNG L
bl N
b %
L g 1814
= & O1A(F), O1M(P)
= 12 U508 01S(F), 0INS
s 10 * 013(F), 015(F)
| 300 :Swndardype T03
- . | B 400
j— r & — ‘e’é &
= e
A-RYUNG - @& P I < B 01AF=T03
W = \ 01MF-T03
s E an sy 025N
025NS
| 300,600 s AMGP20ONS T3 | T06
- (243) . = 1155 1155
i i 400 70 0
| & !
e || D> i 5 il 300 6.0 0
L i Wi 238 142
|| et ! 4
[ == i 4 235 217
w0 o . 200NS | 200NS
- -T03 -T06
4-K HOLES B-MBx1 PT 1,/4 SOCKET
- / w — B XHZE! Material
4+ + [ 4+
| [ * 5 Tank
d 4 . Steel
il * QA Level gauge
- 4 e : ZBAE| Plastic
i1 =
< fal
TO3-TY 50 30 280 | 300 | 320 | 24 | 160 | 130 | 145 | 65 | 140 | 9.5x14.5
TO6-TY 8¢ 60 300 | 320 | 346 | 24 | 160 | 190 | 205 | 95 | 40 | 9.5x14.5 | AMGP-01N, 02N
T12-TY 139 12 9 363|386 | 416 | 24 | 160 | 228 | 234 | 114 | 40 | 11x16 | AMGP-03,05
T20-TY 23 0 20 Q 470 | 500 | 520 | 29 | 160 | 310 | 315 | 155 | 40 12x17

O wwommseone 40+ 41—

o



Oil Lubrication pumps

Oil Reservoir
TZ type
&—MBx1.0y PT 1/4" SOCKET o
+ 4 K/ - f@ — u AHE Materl
. —
. @_ J * &3 Tank
9 J : Seel
4+ %+ @—4. * Q] Level gauge
g nnnnn T --1;-!;—:-—--‘ i |l Itﬁ-|l 8 : %Ebg Phstic
e o &=MBx1.0| G
A
. : : Standard
Type | TotalCapacity EffectiveCapaciy | g | ¢ | b | E | F | 6 | H | J Applicable pump
T03-TZ 50 3¢ 280 | 153 15 168 80 130 | 200 65 140
T06-TZ 8¢ 60 300 | 153 15 168 | 120 | 190 | 240 95 40 AMGP-01N, 02N,
T12-TZ 13¢ 12 ¢ 363 | 153 15 168 | 160 | 228 | 280 | 114 | 40 AMGP-03, 05
T20-TZ 23 ¢ 20 ¢ 470 | 159 | 15 | 174 | 240 | 310 | 390 | 155 | 50
TZ1 type
) ‘ ® AHE Material
. g s * B3 Tank
o) i : Steel
— — —T—1 * R Level gauge
=1 f; B | | : E2AE! Phstic
. 4-e95 . E N
. . : Standard
Type TOtaLC_;E:C'ty Effecg\f gax[:auty A E F G Applicable pump
ST TR ST &[‘g E‘,‘E
T12-TZ21 13 ¢ 12 ¢ 363 163 228 303 AMGP-03, 05
T20-TZ1 23 @ 20 ¢ 470 245 310 410 AMGP-03, 05
TZ2 type
E ] B THE Material
. * 843 Tank
: Seel
: * Q] Level gauge
J 3 T T : E2AE Phstc
. . . Standard
Type TotaLC;i?th Effecgvf gajzaaty A B C D E F G Applicable pump
T40-TZ2 50 3¢ 450 330 40 370 285 390 220 AMGP-03, 05
T60-TZ2 8¢ 60 600 280 50 330 375 540 310 AMGP-03, 05

pump for all, all for pump




Accessories
| LneFiterALF8LF

40 _2-97 HOLES
25 |/

FS=A -"A" Point of contoct
-——O/o-—-—-

F5=B -"B" Point of contoct

—o o —

FS=C +"C" Point of contact

Cou O

_u-\"'o._“.i

UL T
—— , 1) ) o, | AC250V
1 I J PS-15 |0.15+10% DC32V 1.7A Open
e _ o, | AC250V
! l}{ b= o PS-11 1.1 +£10% DC32V 1.7A Open
{ - =
PT 1/8" PT 1/8" /T
(28)
PG-35K 0~35(0-35)
T &
; bt |
2]
O O WWW.aryung.co.kr 42+ 43 -

ALF-8LF-4

K

3.0

40

@h | Bh

ALF-8LF-6

@6 1

3.0

40

(%) @6

Line filter which is installed on lubricating line is used to remove
foreign materials of and to extend the life of machine.
It can be installed on line without special devices.

ALP-4Y b 3.0 M8 1.0p | M10 x1.0p
ALP-6Y @6 3.0 20 | M8x1.0p | M10x1.0p
L] e samar
Discharge volume Curves !::;’ """" A
" /
= / 1 1
L | A =], i ;.“"'
S e

AC250V

0.33A

FS-A DC200V 05A Open
AC250V 033A

e DC200V 05A Cleze
AC250V 0.25A

FS-C DC200V 03A Change-over




o~
o
=1
L1 L2
Hex /L L3
I
§—— ] ¢
L1

L1

12

L3

8d2

T I

vd4

L1 L2

L4

. pump for all, all for pump

TA-4

M8 x1.0p

BsBD3

TA-6

Qb

6.1

M10x1.0p

10

BsBD3

TAD-4 5 4 6 M8x1.0p BsBD3
TAD-6 Qé 6.1 7 4 7 13 |M10x1.0p| 10 | BsBD3
TAD-S4 @b 4.1 5 4 6 12 | M8x1.0p | 8 | SUM24L
TAD-S6 @6 6.1 7 4 7 13 |M10x1.0p| 10 | SUM24L

AL-4

BsBD3

AL-6

5.8

BsBD3

4.1

1.7

BsBD3

25

BsBD3

TBD-4

B

4.1

6.5

BsBD3

TBD-6

7.5

BsBD3




Fitting

L2

TD4-1/8K1 Bl 8 PT1/8" M8x1.0p BsBD3
TD4-1/8K @b 10 8 18 PT1/8" M8x1.0p | 11 BsBD3
TD6-1/8K1 @6 10 8 18 PT1/8" | M10x1.0p | 12 | BsBD3
TD6-1/8K @6 10 8 18 PT1/8" | M10x1.0p | 14 | BsBD3
TD6-12K @6 10 8 18 | M12x1.0p | M10x1.0p | 14 | BsBD3

BsBD3
BsBD3

TDé-10 a6 10 6 18
TD6-12 @6 10 6 18

M10x1.0p
M12x1.0p

M10x1.0p | 12
M10x1.0p | 17

TH4-1/8K1 @b 13118 |10 | 8 | 18 | PT1/8" | M81.0p | BsBD3
TH6-1/8K1 @6 16 [ 22 | 12 | 10 | 22 | PT1/8" |M10x1.0p| BsBD3
TS6-10K @6 18 | 242 | 14 | 11 | 25 | M10x1.0p|M10x1.0p| ZnDC
TS6-1/8K @6 18 | 242 | 14 | 11 | 25 | PT1/8" |M10x1.0p| ZnDC

T1-1/8K1 12 8 21 12 BsBD3

PT1/8"

PT 1/8"

BsBD3
BsBD3

TC-4 @4 |145| 9 | 235
TC-6 76 14 | 10 | 24

PT 1/8"
PT 1/8"

M8x1.0p 10
M10x1.0p | 12

o O st bl 4 ——



Fitting

T1

HEX

?d2

. pump for all, all for pump

TG-8 4 5 " M8x1.0p 12 BsBD3
TG-10 g 5 12 M10x1.0p 14 BsBD3
TG-12 5 6 13 M12x1.0p 17 BsBD3

TG-1/8K 4 7 "

PT1/8" 12 BsBD3

TN-4
TN-6

41110 | 6 5 | 13
61|12 | 6 5

BsBD3
BsBD3

sl
@b

M8x1.0p 10
M10x1.0p 12

RD-340 4

14 26 M10x1.0p BsBD3

RD-350 4

36 M12x1.0p M12x1.0p 12




Fitting

26.5 HOLES

2d1

L4
L3

L2

L1

L1

L1

14

30

8.5

9.5 235

M8x1.0p

ZnDC

14

30

8.5

9.5 23.5

M10x1.0p

ZnDC

BAS4-8

@b

26

25

M8x1.0p

M8x1.0p

M8x1.0p

BsBD3

BAS6-10

@6

305

22

29

16.5

M10x1.0p

M10x1.0p

M10x1.0p

BsBD3

BAS4-10K

Oh

37

25

M10x1.0p

M8x1.0p

M8x1.0p

BsBD3

BAS6-12K

@6

405

22

29

16.5

M12x1.0p

M10x1.0p

M10x1.0p

BsBD3

BA4-8

@b

21

18

25

M8x1.0p

M8x1.0p

BsBD3

BA6-10

a6

255

22

29

11.5

M10x1.0p

M10x1.0p

BsBD3

BA4-10K | g4 | 32 | 18 | 25 | 8 | 10 | M10x1.0p M8x1.0p | 12 | BsBD3
BA6-12K | @6 |355| 22 | 29 | 8 |11.5| M12x1.0p M10x1.0p | 14 | BsBD3
c O WWW.aryung.co.kr 46+ 47 -




o o H # all Ch e
THo| el EaEgt QIUFIM T2 Sl B 20l
FX9| e 7IAIE FMojete] & wst
HF HSER| EY IAE FMojete] sNMFT DS EX| ix|
AL de
Tew wo Motor B4t Sl 2| 2=
Z235F "X|AlZHInterval time)8&, Mdore| €o|
) B Motor & Hom gnmoz =xig
Tank2| M X5HFloat swich S) Oilg 2% (Float swich =& 5fiAl)
ol ot AT 2ol
x=S oo HIOIE D2 2 Q15 I&f HOE wd &l s2]2=
PR} SR BE Sl 2| 2=
Pump?| Gearoll OI2 & 22 OIZZ AA
= = Filter 218!, Air&%, izt 23l 20l
e=op b= Hz ol 3|1 S2HH3T) 349 ©Rt 245 ME HRrCh
S8 T
Oil g7t 1R =7L Y3 MEEE /X (30~1000cSt)
Valve &1 Dlx Valve =3
3F TS otz x5 2ol A 25 Relief valve =&
it @S2 =R 2 ) HiReAES £
ES = P, ) = I s ' =
orz =%l FHH|EO] N Se(E712Y (Filter2fa!) FHX, SUHHREA, Filter &, OilF= 292!
2o HoEx 37| Y FHAGH Y S Sealing E4
Gear Ot2 Sl 2| 2=
Symptom Probable cause Remedy
No input power, Bad power connection Check connections
Fuse outage Replace fuse
Over-voltage protection trip Turn off over-voltage protection
NQ Motor wiring disconnection Requires repair service
operational —— .
sound Set sufficient interval time.
Overheating of the motor When the heat cools down, the system will return to normal
No condition.
rotation Lowering of the oil level
(Turn on the float switch) Refill with oil (Turn off the float switch)
weak voltage Check voltage rating
Operational Worn-out bearing causing sticking Replace bearing, Requires repair service
sound Rotor strikes stator Requires repair service
foreign materials in the pump gear Remove foreign materials
Insufficient suction Check for filter blockage, air mixture, and pipe obstruction
Insufficient Inferior revolution of the pump Switch two of the three circuits
discharge Improper viscosity of oil Maintain an optimum level of viscosity (30~1000cSt)
Improper serring of pipes Adjust valve
_ Pressure set too low Adjust relief valve
Falling Tight ti tpi t d distributi
Rotation pressure Leakage at the pipes and connectors b{g(:k(;n connections at pipe connectors and distribution
r;lrisejgg Cavitation phenomena Check oil level, intake pipes, filter cleanliness, and oil
9 (air mixture and pipe blockage) viscosity
pressure
Irregular Air mixture Check oil level, intake pipes and seals
performance of
pump Worn-out gear Requires repair service

pump for all, all for pump



MEMO




MEMO




1976. 5
1980. 4
1982. 2

1982. 5
1987. 9

1992. 12
1993. 5

199%. 11
1999. 6

1999. 11
2000. 10

2000. 11

2003. 11

2003. 12
2004. 11
2005. 12
2006. 12
2007. 4
2007. 9
2007. 10
2007. 10
2008. 5
2009. 2
2009. 3
2010. 11

2012. 2
2014. 2
2014.10
2015. 3
2015.12

CietEl= Che =i
SA71A 2ol = oksel ST

A-RYUNG The leading (pump) manufacturer in Korea.
A-RYUNG joins the development of Korean machine tools.

01E7|3@ M8

AZEXIH Oil pump H23H LA XIF(No.79-118)
ohat AEAE SQIHMXIY

(BA7IPTIEEH No.81-208)

LEBAI|Y HEHEE

AT LLAHMY BEIA 44
(No.87-1043)
eMdy 321
SHRINE 5 At
(CHSHRHTISZAY

‘CE" oA 215 ( TUV Rheinland)
M 7|AR, BEEAX RLEXRH 05
(Bt=271&7ZE¥ No.1999-0393)

ISO 9001 EXAZAIAH! 2IF (KSA)
‘CSA-c-us” 0| & FHLICH QFHZ QI
(CSA INTERNATIONAL)

4+ET2 MXRSNRY B

o (FMY)

=+

=R
0:
+
0:

ol

il

(No.47955)
DHRIS AMLUN 22 MARAR BE A
(No.54163).

)
TR el LY 0157 ISt FeSAY

BEAVALE 32 272N BY (No.133740%)

ZHEERE(N47687S)

ilXMzE2x ZE 215

(0.75kW 04}

et S 4(HB39S)

Z2|0/Y S87IF(E3) 215

TEET Y =4

DHIMX 252| 4 7SR Ay 4
=} b

Fool & 71d 3002tE =

1976. 5
1980. 4
1982. 2

1982. 5
1987. 9

1992. 12
1993. 5

1996. 11
1999. 6

1999. 11
2000. 10

2000. 11

2003. 11

2003. 12
2004. 11
2005. 12
2006. 12
2007. 4
2007. 9
2007. 10
2007. 10
2008. 5
2009. 2
2009. 3
2010. 11

2012. 2
2014. 2
2014.10
2015. 3
2015.12

A Coolant pump £ Lire AT rdo pump 2g Line

Established as A-RYUNG Machinery Industry Co. Ltd.
Designated technical manufacturer of oil pump by the Ministry of Trade and Industry.

Designated as an Approved Company of Systematization of Small & Medium
Industry by the Ministry of Trade and Industry.

Awarded the Korea Presidential Citation for an Excellent Small & Medium Enterprise.

Awarded Excellent company for domestic machine development
by the Deputy Prime Minister.

Awarded Self-Control company for National Tax by National Tax Office.

Awarded an Export Industry Prize for Overseas Market
by the Korea Trade Center. (KOTRA)

Authorized Conformity EC declaration by TUV Rheinland.

Obtaining Certification for EM Machinery, Spare parts by Korea Technique
Standard Association.

Obtaining the ISO 9001 Certification by the KSA-QA supported by IQ-NET.

Obtained the CSA-c-us mark, American-Canadian Safety Standard by CSA
INTERNATIONAL.

Awarded The prize of Export-developing Company by Ministry of Trade and
Industry.

Awarded Prize of Trade Promotion and Industrial Development from Ministry
of Trade and Industry

Awarded Prize of excellent Exporter by Jeonnam Province.
Opened China office in Dalian named A-Ryung Dalian Co. Ltd.
Awarded Honor of machine development by The Prime Minister.
Prized 1 Million Tower of Export celebrating National Trade Day
Established Research & Development Center

Obtained Main-Biz (management innovation in small & midium Co.)
Obtained Certificate of Single PPM

Obtained Inno-biz ( management innivation in small & midium Co.)
awarded bronze tower of industry from ministry of public administration and security
Obtained NRTL Certificate.

A citation from Director of the National Tax Service

Motor(more than 0.75kw) based on minum energy efficiency
Korean policy will be released in 2011.

Export Award of Jeonnam

IE3, Premium Efficiency, certified

Noble Entrepreneur Award

Good Taxpayer Award from the vice prime minister
Exporting three million dollars award



IND. CO., LTD.

(otmsiE@E T

®Hea quart KOHEA
#48, Damsun- KeumSeong myun,
Damyang-gun, eonna , Korea

Tt ehoket ZNH B2 480=22] 681-1)

TEL : ++82-61-380- 2200 FAX ++82-61-382-3094
URL : http://Aww.aryung.co.kr Email : aryung(@aryung.co.kr

@ Branch office & Factory, CHINA

#9 Tieshan East 3road Central Industnal District
Economic Development Zone Dalian.City-China

Q Q o
| I S OO0~ =0 ao' + [




